B.B. KHPHAAOBA
K.51. CEPTEEBA
T.C. IIIAPAIIA

HHOCTPAHHBIHA SI3BIK
(AHTAMHUCKHH)

YTeHHEe H NIEPEBOA
C OCHOBaMH IrpaMMAaTHKH
AASI CTYAEHTOB I Kypca

YyeOHO-MeTOAHYECKOE IToCcCooHe

CankT-IleTepOypr
2020



MUHUCTEPCTBO HAYKU U OBPA3OBAHUA POCCUACKOWU ®EOQEPALINA

S®ENEPAJIbHOE TOCYOAPCTBEHHOE BIOAXETHOE OBPA30OBATEJIbHOE
YUYPEXAOEHUE BbICLLUET'O OBPA30OBAHUA

«CAHKT-NETEPBYPICKUN FOCY,EI,APCTBI?HHbIVI YHUBEPCUTET
NMPOMBbIWNEHHbLIX TEXHONOIrMn n AN3AUHA»

BbICLUAA LWKOJIA TEXHOJTOTMU U QHEPTETUKU

B. B. KHPUAAOBA
K. 51. CEPTEEBA
T. C. IIIAPAIIA

HHOCTPAHHBIHA SI3BIK
(AHTAHHCKHH)

YT1eHue u nnepeBoL
C OCHOBaMU rpaMMaTUKU
OAS CTYOEHTOB | Kypca

Y4ebHO-MeTOAUYECKOE TT0CODUE

Cankr-IleTepbypr
2020



YK 802.0(07)
BBK 81.2(Anrn)p
K431

Kupunnosa B. B., Cepreesa K. 4., Iapama T. C.
NuocTpaHHbi sA3bIK (aHTAUMckui). UTeHHue U NHEepPeBOA C
OCHOBaMHM TpaMMaTHKHU JJsg CcTyaeHToB | kypca: ydyeOHO-
MeToanuueckoe nocobdbume / BIITO CIIOI'VIITH. — CII6., 2020. — 87 c.

VY4eOHo-MeToIMYecKoe mocodue MmpeaHazHayeHo sl CTYI€HTOB MEPBOTO
Kypca BceX CHeluanbHOCTEeW BceX (opM OOy4YeHHS; MUMEET LEIbI0 Pa3BUTHE
HABBIKOB YTCHUS U MEPEBOJIa TEKCTOB OOIIETEXHUUECKON TEMATUKH C OTIOPOH Ha
UCIIOJIb30BaHUE TpaMMaTHYecKuX npaBui. CoaepKUT rpaMMaTUYeCKUe TpaBuia
U YOPaKHEHUS, TEKCThl JIJII YTEHUS W TEPEBOJAA, YINPAKHEHUS JJIsI TPOBEPKHU
MOHUMAHHUSI COJICPIKAHUS TEKCTOB M YCBOCHUS OOIICH M TEXHUYECKON JICKCHKHU.

Petien3eHThl: KaH. M. HayK, OIEHT KadeIpbl HHOCTPAHHBIX s13bIK0B BIIITO
CIIOI' VIIT K. A. Ceuuna,
KaH[. (U0, HAYK, TOUEHT KadeIphl aHTIIMICKOTO si3bIka Ne 2
CankT-IleTepOyprckoro rocyaapcTBEHHOIO 3KOHOMUYECKOTO
ynuBepcuteta K. H. AHTOHOBA.

[lonroToBneHO W PEKOMEHIOBAHO K TMedYaTh KaeApod HHOCTPAHHBIX
s3p1koB BIITS CIIOIYIIT/ (mpotokosn Ne 1 ot 01.09.2020 1.).

VYTBepkAEHO K H3JaHUI0 MeToaudeckol  komuccuern MNUYT BIITO
CIIoI'VIIT/ (mporokon Ne ot . .2020 1.).

PexoMmeHnnoBaHO k m3maHuio PemaknnoHHo-u3nateabckum coetoM BIITD
CIIGI'VIIT/] B kaduecTBe y4eOHO-METOAMIECKOTO TTOCOOUSI.

ISBN © Kupwmiosa B. B., Cepreesa K. 1.,
[Tapamna T. C., 2020.

© Beicmras mkosaa TEXHOJIOTHH
u sHepreruku CIIGIYIIT/, 2020.



INNPEAUCAOBHE

Hacrosimiee yyeOHO-MeToaM4YecKoe Iocobue IIpeaHa3sHadYeHo
JASI CTyZIEeHTOB | Kypca pa3AUYHBIX TEXHHYECKUX CIIEIIUAABHOCTEH.

[leab 110COOMSA — OOYYUTH YTEHHUIO U IIOHHUMAaHUIO TEKCTOB
OOIIETEXHUYECKON HAMIPABAEHHOCTH, 3aKPEIUTh U Pa3BUTh 3HAHUMA
0 TpaMMATHYECKHUX CTPYKTypaxX, IIOAYIE€HHbIE Ha IIPEeabIAyIIEM
sTarie o0pas3oBaHHUS, OOYIYUTL MIPUMEHEHUIO I3TUX 3HAHUN [IAd
TPAMOTHOTO M TOYHOTO IIEPEBOMA TEKCTOB HAYYHO-TEXHUIECKOM
TEMATUKH.

[Tocobue comepKUT TpaMMaTHYECKHE IIpaBHAQ, YIIPaKHEHUS
JASI UX 3aKPETIAEHUS, TEKCThI A UTEHHUS U IIepeBOoOa, AEKCUYIECKHE
yIpaskKHEeHUsI, paclipefeAéHHbIe 10 IeCTH YPoKaM. [JOIIOAHUTEABHBIE
TEKCTbI MOTYT HMCIIOAB30BATbCsI BMECTO OCHOBHBIX Ha yCMOTpPEHUE

IIPEIIoJaBaTECAd.



YPOK 1

PA3AEA 1. TPAMMATHKA

Caaroa to be B pa3HbIX (PyHKITUIX.
C'aaroa to have B pa3HbIX PyHKIIHIX.
Koncrpykiug there is/there are.

PN

CyLIeCcTBUTEABHOE B KQ4ECTBE OIIPEAECACHUS.

[Aaroa B TIPENAOKEHHH MOXKET OBITh CMBICAOBBIM (IIEPEBOAUTCH),
BCIIOMOT'aTE€ABHBIM  ([IEPEBOAUTCA  TOABKO BMECTE€ CO  CMBICAOBBIM,
COOCTBEHHOTO 3HAYEHHd HE HMEET, YKas3blBaeT Ha BPEMS M 3aA0T CKa3yeMoro),
MOZAABHBIM (II€PEeBOAUTCS OOBIYHO CAOBAMM «MOXKET», «IOAXKEH» HAM HX
CHHOHHMAaMH, yIIOTPEOASIETCS TOABKO BMECTE CO CMBICAOBBIM I'AQT'OAOM).

I'aaroa to be B pa3HbIx byHKIHAX

dopmbl raaroaa "to be'.

dopma Bpems [lepeBon

am (1 A. ex.4.) Present Simple | HaxoXXycCh, SBAGIOCH UAU HE

is (3 a. ex.u.) HaxXOUTCS, IBAGETCHA | IIEPEBOIUTCSH

are HaXOASITCs, SIBASIFOTCS

was (en.4.) Past Simple OBIA, HAXOOUACS, IBAFACS

were (MH.4.) OBIAM, HAXOUAUCH, SIBASIAUCH

has been (3 a. em.4.) | Present Perfect | Ob1aA, HAXOOHACS, IBAFIACS

have been OBIAM, HAXOIHUANCDH, IBAFIANCEH

had been Past Perfect OBIA, HAXOOUACS, IBAFACS
OBIAM, HAXOAHUAUCH, IBASIAUCH

will be Future Simple | Oyzmet / OyaoyT (HaxoouThHCS)

will have been Future Perfect | Oyzmer / OymoyT (HaxomuThCs)

PyHKIHH raaroaa "to be".

[aaron to be MoOXKeT BBIIIOAHATH (PYHKIIHIO CMBICAOBOTO, MOJAABHOTIO,
BCIIOMOTATEABHOTO TIAaroaa, a TaKiKe TAaroaa-cBA3KU. [lagd IIpaBHABHOTO
IIOHMMAaHHUS TeKCTa U IIepeBoJga HeoOX0AUMO pasAndaTh 9TH (PYHKIIUH.



1. Taaron to be B KayecTBE CMBICAOBOrO II€PEBOAUTCS «OBITHY,
«HaXOOUTHCS» HAU OIIyCKaeTCs B IIEPEBOE (B HACTOLAIIEM BPEMEHH). 3a HUM
CTOUT CYILIECTBUTEABHOE C IIPEIAOTOM HAU Hapedue.

2. Taaron to be B KayecTBe raaroaa-CBfI3KH II€PEBOOUTCH «OBITH,
«IBASITBCSI», «IIPEICTABASITH COOOM» M T. II. AU OIIyCKaeTcd B IlepeBofe. 3a HUM
MOZKET CTOSIThH CYIIIECTBUTEABHOE, Hapedre UAU JacTuna to 1 MH(PUHUTHUB.

3. Taaroa to be B KadecTBE BCIHOMOIaTE€ABHOI'O CAMOCTOSITEABHO HE
IIEPEBOIUTCS; HCIIOAB3YETCS 1A 06pa30oBaHUL:

a) Bpemé€H rpymnmsl Continuous — 3a HUM CTOHT T'AQroA C -ing;
0) cTpamaTeABPHOTO 3aA0Ta — 38 HUM CTOUT rAaroa B 3 oopMe HAM raaroa ¢ -ed.

4. T'rnaron to be B KauecTBE MOZAABHOIO (3aMEHHTEA MOJLAABHOTIO)
IIEPEBOIUTCH  «JIOAKEH», «HaAMEpeH», «(IPeACTOUT» Hu T. II.; obo3HadaeT
HaMepeHUe, MAaH AeHCTBUH. 3a HUM CTOUT JacTHIla to U HH(PUHUTUB.

[Ipumeuanue.

Kak mocae raarona-cBSI3KH, TaK B IIOCAE MOJAABHOTO raaroaa to be moxker
CTOSITh WH(MPUHUTHUB C dYacTUIed to, HO CMBICA M IIepeBon OymerT pasHbli!
CpaBHure:

He was to arrive earlier. — OH pgoaxkeH ObIA IIpHEXaTb pPaHBIIE.
(MomaabHBIN raaroa).

His plan was to arrive earlier. — Ero rmaas cocTosia B TOM, 9YTOOBI ITpHEXaTh
pansble. (Caaroa-cBg3kKa).

Pazangaem 1o mmogaekalrieMy, TAaroA-CBsI3Ka OOBIYHO CTOUT ITOCAE CAOB:

way, manner — crrocoo,

problem — 3agaya, TPpyAHOCTD,

technique — meToauKa,

aim, purpose, object, goal, objective — 11eab,

action, effect — mericrBue,

function — pyHKIIMA, HA3HAYEHUE,

task — 3amayga, 3amaHue,

plan — naaH,

tendency, trend — TeHgeHIINA, HAIpaBAEHUE,

approach — meTon, CItoco0, IMOaX0Md,

method — meTo.

[Ipumepsl:

Where were you at 7 o’clock yesterday?

Cka3yeMo€e COCTOUT K3 OOHOTO TrAarona were, TO €CTb OH CMBICAOBOM.
[TepeBom: I'me ThI OBIA BUepa B 7 4acoB?

[ was walking a dog.

[Tocae raarona was CTOHUT TAaroa C -ing, 3Ha4YUT, was BCIIOMOTATEABHBIH,
CAYKUT nad obpaszoBaHus BpeMeHH Past Continuous, mepeBoa: Y ryasda c
cobOaKoti.



Our teacher is asked a lot of questions.

[Tocae raaroaa is crout raaroa c -ed (3-a ¢opma raaroasa), 3HaAUUT, iS
BCIIOMOTATEAbHBIH, CAYKHUT nad obpaszoBaHus Passive. IlepeBon: Hammemy
VUIHUTEAIO 33JaI0T MHOTO BOIIPOCOB.

He is to translate this text by next week.

[Tocae raarosa is crout yactuna to m emé€ omuH raaroa (l-a copma),
3HAYUT, iS MOJAABHBIN, B TAKOH (PYHKIIMH IIEPEBOAUTCH: «IOAIKEH», «CAEOYET»,
«IPEACTOUT» (II0 HaMedeHHoOMYy IAaHy). [lepeBoxm: OH OOAKEH NEPEBECTH 3TOT
TEKCT K CAEAYIOIIEN HEMEAE.

His task is to translate this text by next week.

[IpenaokeHHEe aHAAOTHUYHO ITPEOBIAYIIEMY, HO IIOCKOABKY IIOJAEKAIllee
BbIpazkeHO caoBoM task (3amada, 3amaHume), TO 3[4€Ch TAAroA is — 3TO TAAroA-
CBsI3Ka, MEPEBOMUTCS: «COCTOUT B TOM, YTOOBI», «3aKAIOYAETCS B TOM, YUTOOBI»,
«Q3TO», «IBAFETCHA» UAM He nepeBoauTcd. llepeBon: Ero 3amada cocTouT B TOM,
4TOOBI IEPEBECTH ATOT TEKCT K caenymolneit Hemeae. (Ero 3agaua — mepeBecTu
3TOT TEKCT K CAEAYIOIIEH HeZleAe.)

YnpaxkHeHHe 1. H3MeHHTe NnpenAOKEeHHS, HCIIOAB3YyA raaroa to be B
KadeCcTBe MOJZAaAbHOTO, H IEepeBEAHTE.

O6paszen: We agreed to meet at the office. - We are to meet at the
office. — MBI ZOOroBOPHAHCH BCTPETHTHCA B odHce. — MBI ZOOAIKHBI
BCTpeTHTHCH B odHce.

The examiner agreed to listen to him a second time.
The travellers arranged to start at dawn.

He agreed to pay his debts at once.

The students are not allowed to use reference books.

I have an appointment with my lawyer on Wednesday.

ahk b=

YnpamxHeHHe 2. 3aIOAHHTe IPONYCKH raaroaom to be B HyKHOH
opMe, ZOOAaBHEB rAaroAbl, JaHHbIE B CKOOKax. [lepeBeauTe.
P P

1. The meeting ... to take place at 2.15 p.m. at our department.

2. Jane ... a second year student.

3. Nextyear... 18.

4. My dad ... a mining engineer.

5. I missed the lecture and seminar yesterday as I ... ill.

6. It... 7.20 a.m. It ... time to have breakfast.

7. What ... done can't ... undone.

8. When Mr. Pin entered the room the students ... (talk).

9. I...tired as I ... .all day long (to work).

10. The theory that almost everyone on Earth ... to anyone else via a small
number of acquaintances seems to hold true for e-mail, too (to connect).
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11. My friend ... to take entrance exams next summer.
12. Next autumn I ... for 2 years at the High school (to study).

Caaroa to have B pa3HbIxX GyHKIHAX.

dyukIMM raaroasa "to have'.

Faaroa to have MOKeT BBIIOAHATH (PYHKIIHIO CMBICAOBOTO, MOJAABHOI'O U
BCIIOMOTATEABHOT'O TAaroaa. [Iasg IIpaBHUABHOIO IIOHHMaHUd TEKCTa U IIepeBoaa
HeoOXOQUMO pa3AudaTh 3TH (PYHKIIHH.

1. Taaroa to have B KayecTBe CMBICAOBOIO II€PEBOJUTCS «HUMETh,
«0bAagaTh” UAH «Y... €CTh...». 32 HUM CTOUT CYyIIIECTBUTEABLHOE.

2. T'naroa to have B kayecTBe BCIOMOIraTe€ABHOI'O CAMOCTOATEABHO HeE
II€PEBOIUTCS; UCIIOAB3YeTCs A 00pa3oBaHUs Bcex BpeMéH rpynmnb!l Perfect. 3a
HUM CTOUT TrAaroA B 3 popMe MAM TAaroa c -ed.

3. T'aaroa to have B KauecTBe MOZAABHOIO (3aMEHHTEASI MOJAAABHOTIO)
IIEPEBOAUTCA «OOAZKEH», «BBIHYXKICH», «IIPDUXOAUTCA» U T. II. 3a HUM CTOUT
yactuia to 1 THQPUHUTUB.

4. Taaron to have o0Opa3dyer C HEKOTOPBIMU CYLIECTBUTEABHBIMU
codYeTaHHsI, KOTOpble YaCTO IepeBoasaTcd raaroaoM: to have breakfast -
3aBTpakarTh, to have fun — pasBaekarbca u T. A.

[Ipumepsr:

Our research group has a new technique.
Cka3yeMoe COCTOHUT M3 OOHOTO TAarona has, TO €CTb OH CMBICAOBOH.
[TepeBon: Y Hale UCCAEMOBATEABCKOH TPYIIIBI €CTh HOBAs METOANKA.

Our research group has to develop a new technique.

[Tocae raaroaa has crout yactuna to u emé oguH raaroa (l-a copwma),
3HaA4YUT, has MomaabHBIN, B TaKOW (QYHKIIMH II€PEBOAUTCS: «JOAXKEH)», «HY?KHOY,
«(IIPUXOOUTCHY. [lepeBon: Hamrta  mccaemoBaTeabCcKass  Tpylla  [OOAXKHA
pa3paboTaTb HOBYIO METOAUKY.

Our research group has developed a new technique.

[Tocae raaroaa has crout raaroa c -ed (3-g popma raaroaa), 3Ha4uT, has
BCIIOMOTAQTEABHBIH, CAyXKUT [Ad oOpazoBaHus BpemeHu Present Perfect.
[TepeBoxn: Hara nccaeqoBateabcKas Ipymiia pazpadorasa HOBYIO METOIUKY.

Ynpamxuenune 3. BcraBeTe raaroa to have B HyxHOH dopme,
DOOaBHEB rAaroAbl, JaHHbIE B CKOOKax. [lepeBeauTe.

1. My friend . . . a lot of English, Canadian and American technical journals.
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You ... (show) your graduation paper to your scientific advisor tomorrow.
The students ... (carry out) the first experiment by the end of September.
These new thermal generators ... a great capacity.

Rob ... (leave) the rock concert at 8.30 p.m. as he ... an appointment.

We ... (translate) our article from Russian into English by a computer, but
this translation was very bad.

ok wbd

KoHcTpykuusa there is/there are (there be).

Ob6opot there + be (there is, there are etc.) urpaer poab ckazyemoro,
OOBIYHO CTOUT B HaydaAe IIPENAOKEHHS W yKasbIBaeT Ha HAAWYHeE, IIPHUCYTCTBHE
Jero-Anbo B KakoM-To MecTe. C OTPHUIIaHHEM NO — Ha OTCYTCTBHE YEro-An00.

Faaroa to be B 3ToM 060poTe MOKET CTOATHL B AloOOM BpemeHU. MHOrma
BMECTO HETro yIIoTpedageTcs raaroa exist (CymiecTBoBaTh) UAU APYTHE TAAQTOABI.

CaoBo there B 060poTe He IEPEBOIUTCH.

[Ipenaoxkenus ¢ oboporom "there be" mepeBoasaTcsa AByMd criocobaMu.

1. Ecau B mpemaoxxeHuu c oboporoMm "there be" ecTh 00CTOSTEABCTBO
MeCTa (CAOBO HAHU T'pPyIIla CAOB, OTBEYAIOIIUX Ha BOIIPOC «TZE?P»), TO IIEPEBOL
caeqyeT HAYUHATHE C 00CTOSITEABCTBA.

There are two machines at the mill. - Ha xomOuHaTe (ecTh,
YCTAHOBAEHBI) IBE MAIIIUHBI.

2. Ecam B mpenaokeHUH HeT OOCTOATEABCTBA, TO IIEPEBOAWM 000OpOT
CAOBaMU: €CTb, UMEETCs, CYLIECTBYET, HaXOQUTCs, HabAIO1aeTcsI, ObIAO.

There are several ways to solve this problem. — CymiecTByeT (umeercs,
€CTh) HECKOABKO CIIOCOOOB peIlleHHd 3TOH 3aJa4Hu.

3. Orpunanue "no" B obopote "there be" mepeBoguTCA «HET».
There is no way to solve this problem. — Hetr (He cyuiecTByeT) pelieHuUs
3TOH 3a1a4H.

[Ipumeyanue 1. B maHHOM KOHCTPYKIIMM Traaroa 'be" wMoxKeT OBITH
3aM€eHEH APYyTUMU raaroramu: exist, stand, hang u ap.

There exist a great many different types and grades of paper. —
CyiiecTByeT MHOTO Pa3AHYHBIX BHIOB U COPTOB OyMard.



[Ipumeuyanue 2. He caenyer mytaTh BBOAHOe cAoBO "there" B obopore

"there be" c Hapeuuem "there" — Tam, Tyna.

There is a new stadium there. — Tam HaxogHUTCa HOBBIH CTaIHUOH.

[Tpumeuyanue 3. IlpensoxkeHue HauuHawoT c [t is (was, will be), korma

TOBOPLAT HE O HAAWYHH, a OIITMCaHHUHU 4yero-Aubo.

b=

It was nice to see her again. — Briano TTpusaTHO CHOBA C Hell yBUAETHCS.
It will be cold next week. — Ha caenyronieit Hegeae OyaeT XOAOTHO.

YnpaxkHeHHe 4. BcraBbTe to be B Hy:kHOM popme, nepeBeauTe.
There ... much work last week.
There ... a lot of stars and planets in space.

Soon there ... a new film on.
When I came into the room there ... nobody there.

YunpaxueHue 5. IlepeBeaurte, Hucrioas3ya obopor There is uau it is B

HYXKHOM BPEMEHH.

b=

® N o

ok L=

Ha yauiie MmHOrO MainuH.

B AoHmoHe ceifigyac XOAOIHO?

BbIAO TO3AHO, ¥ MBI ITOMIAH JOMOH.

Bb1A0 HECKOABKO UHTEPECHBIX IIPENAOKEHUHN, HO €My OHHU He
[IOHPAaBUAHUCH.

Aromett Ha yaunie He ObIAO, IOTOMY YTO OBIAO OYEHB IIO3/THO.
Henmaaeko oT Moero moMma ectb xopoliree Kadge.

B namrem ropoae 3MMO MHOTO CHera.

Ectp x0oponiasg HOBOCTB!

YnpaxHeHHe 6. BcraBbTe there is HaAH it is, mepeBenuTe.

. fine today.

. an underground station not far from my house.
. nearly 10 o’clock.

. a pity that you can’t come with me.

. no place like home.

. a lot of work to do this afternoon.



CYII.IGCTBKTGAIBHOG B KQ4YE€CTBE€ OIIPDCOACACHHA.

B aHrAuiickoMm s3bIKe CYILIECTBUTEABHBbIE MOTYT COYETaATbCs MEXIy coboit
PasHBIMH CITOCODaAMMU:
1) ¢ momoipio penaora: the end of the street — KoHel yAuibr;
2) mpuTsaxKaTeAbHBIN manexk: my friend’s book — kHHMra moero apyra, my
parents’ room — KOMHaTa MOUX POANTEAEH;
3) memno4dka CyLIECTBUTEABHBIX (CYIIIECTBUTEABHOE B Kad€CTBE OIIPENEACHUS):
bus driver — BonuTeab aBTobyca, film actor — kuHOAKTED.

I[enmoYKH CyLEeCTBHTEABHBIX — 9TO CAOBOCOYETAHUS, COCTOSIIIHE U3
CYILIECTBUTEABHOTO U OIPEeNEA€HUH, PACIIOAOKEHHBIX CA€Ba OT HETO; 3TO
CYILIECTBUTEABHBIE (OT ABYX OO IATH UAU IecTH). CyIleCTBUTEABHBIM MOTYT
PeaNIeCTBOBATD: ITPHUAATATEABHOE, TIPUYACTHE, MECTOUMEHUE UAU
YUCAUTEABHOE, a TaKIKe COYETaHHUSd U3 3TUX CAOB, COEMHEHHbIE JeDUCOM.

BHyTpu TaKOoro coueTaHus CAOBA HE OTIAEA€HBI APYT OT Apyra HHU
APTUKASIMHU, HU IIPEIAOTAMHU, HU 3aIIATHIMH.

OCHOBHBIM CAOBOM AIOOOM IIETIOYKU CYIIIECTBUTEABHBIX SIBASIETCS
nocAeZHee CylLleCTBHTeABHOe. Bce cylecTBUTEABHBIE U APYTHE YaCTH PEYH,
CTOSIIIIFIE CA€Ba OT OCHOBHOT'O CAOBA, SIBASIFOTCH OIIPEOEACHUSIMU K HEMY:

quality control — mocaenHee cyiecTBUTEABHOE control — oCHOBHOE CAOBO,
quality — onpeneaeHre; IEPEBO: KOHTPOAb KadecTBa.

control quality — mocaenHee cyiecTBUTEABHOE quality — ocCHOBHOE CAOBO,
control — onrpezneaeHue; IEpPeBOa: KAYECTBO KOHTPOAS.

OnHa U Ta Ke ILeII0YKa MOXKeT [IePEeBOAUTHCS II0-Pa3HOMY:
university library — OubAMOTEKa YHUBEPCUTETA
YHUBeEpCcUTEeTCKad OubAnoTeKa
OubAMOTEKa B YHUBEPCUTETE

VYnpaxkHeHne 7. IloabOepuTe omnpezeAeHHsT K  ILEeNOYKaM
CyllleCTBHTEABHEBIX. [lepeBeAHTE LIEMIOYKH.

1. milk chocolate a. box for matches

2. chocolate milk b. horse taking part in races

3. flower garden c. race of horses

4. garden flower d. chocolate made with milk

5. horse race e. flower that grows in garden
6. race horse f. dress made of cotton

7. match box g. cotton for making dresses

8. box match h. garden with flowers in

9. cotton dress i. milk flavoured with chocolate
10. dress cotton j- match in boxing
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YnpaxHeHue 8. [lepeBeanTe CAOBOCOYETAHHS HAa AaHTAHHCKHH fA3BIK,
rae BO3MOXKHO, HCIIOAB3YHTE ILIEIIOYKH CyLIeCTBHTEABHBIX.

MamrHa Moero MyzKa, Has3BaHHE KHUTH, pa3Mep aBTOMOOHAs, wuied
pas3BuUTUS (PUPMBI, OM3HEC MOETo ApyTra, IIANTKA IIIOKOAAla, caioBasl CKaMeHrKa,
au3adiH caza, COBET Balllero OTlla, Ha3BaHHE ropoja, IIBET das, ToAOBa CODaKH,
3aBTpalIHdsd IIOTofla, pPe3yAbTaThl TecTa, S3HadeHHEe CAOBa, CTHUAb MOETo
AIOOMMOro aBTopa, OodHUIlephl (paOoTa, MaraduH OOyBH, MHEPBBIH 3TaxK oduca,
npobaeMa KOAAEKTHUBA, BUepalllHdAsl BeYEePHUHKA, MHEHHE cTapIlero opara.

PASOEA 2. TEKCT “MIKHAIL LOMONOSOV”

Ynpaxuenue 9. IIpu nomomu mnpedpHKca un-, obO3HaYaIOLIErO
OTpHIIAHHE HAH OTMEHY, OOpa3yiiTe HOBbIE€ CAOBA OT CAOB, JAaHHBIX HHIKE,
H MepeBeAHTE Ha PYCCKHH KaK Te, TakK H ZApyTHeE.

1) npuaaraTeAbHbI€ H NIPHYACTHA:

important, interesting, punished, expressed, willingness, satisfactory,
conquered, fit (romuslit), armed, heard, lawful (3akonnsIii), returned, familiar,
finished, wise, fair.

2) raaroasr:

to dress, to load, to lock, to pack, to tie.

YnpaxueHue 10. OOpasylTe CYLIECTBHTEABHBIE C IIOMOIIBIO
cyddurcoB, nepeBesHTE:

-ist — mag o6o3HaYEHUS MPHUHAIAEKHOCTH K IIOAUTHUYECKUM HAW HAYYHBIM
HaIllpaBAEHUAM

-ism — 1Al OTBA€YEHHBIX UMEH CYIIIECTBUTEABHBIX

Special, social, ideal, capital, material, imperial, commune, opportune.

YnpaxkHeHune 11. IlepeBeauTe Ha PYCCKHH S3BIK CAEAYIOIILHE
HHTEepHallHOHAABHbIE CAOBA:

vibration, manipulation, regulating, control, information, instruction,
command, signal, communication, criteria, operations.
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YnpaxkHeHHe 12. BelydHTe CAOBa H BhIpaXKE€HHSA K TEKCTY:

the law of conservation of matter and motion
3aKOH COXPaHEHHs BEIIECTBA U ABUXKEHUS
(law [lo:]; conservation [,kons3:’veif(o)n]; matter [‘meets]; motion [‘mouv((s)n])

to assert yTBEpPXKAATh, OTCTAaNBaTh
minute MEAKUHN, MEAbYaUIIIUT
particle JacTHIla

compound COCTaBHOM, CAOKHBIH
remarkable 3aMedYaTeAbHbIN

precisely TOYHO

to maintain HoANEPKUBATh, yTBEPKIAATD
infinitely 6e3rpaHUYHO, OECKOHEYHO
property CBOMCTBO

to create co3aaBaTh, TBOPUTH

to convince y0enuTh, yBEPUTH

YnpaxueHue 13. [IpounTaiTe H IepeBeAHTE TEKCT

Mikhail Lomonosov

Mikhail Lomonosov, the great Russian scientist and poet, was a son of a
fisherman. His first years of study were difficult. He studied at the Slavic-
Greek-Latin Academy in Moscow. Later on he continued his studies in
Petersburg and then abroad. Lomonosov founded our first university, the
Moscow University, named after him. He founded the first chemical laboratory
in Russia, he taught chemistry and other subjects at the Academy of Sciences.

He formulated the main principles of one of the basic laws of physics —
the Law of the Conservation of Matter. He asserted that all matter was made
up of minute particles which he called “elements” and “corpuscles”. By
“corpuscles” he meant compound particles consisting of simple particles —
“elements”. Now we say molecules and atoms. It is remarkable that the
difference between a molecule and an atom made clear by Lomonosov was
precisely formulated for the second time at a special international congress of
chemists only a hundred years later. Lomonosov maintained that since
“corpuscles” and “elements” represent infinitely small bodies, possessing all the
properties of an ordinary body, their motion and interaction follow the general
laws of mechanics. As a mechanic, Lomonosov set himself a problem, very
unusual for his time, that of creating “mathematical chemistry”. Lomonosov
was the first who gave the idea about absolute zero.

Lomonosov wrote poetry that had a great effect on the development of the
Russian literary language. He also wrote the first Russian grammar. He
translated a course in physics from German into Russian and introduced into

12



the Russian scientific language such terms as thermometer, formula,
atmosphere and some others.

He devoted his whole life to the development of Russian science, and all

that he did he did for his people and for his country.

Ynpaxuenue 14. OrBeThTe Ha BOIIPOCHI.

Who was M.Lomonosov?

Where did he begin to study?

What did he found in Moscow?

What did he teach at the Academy of Sciences?

What did he assert in his theses?

What did he call these minute particles of matter?

What did Lomonosov mean by “corpuscles”?

What terms are now used instead of “corpuscles” and “element”?

. What did he formulate as one of the basic laws of physics?

10. When precisely was the difference between the molecule and the

©0NO G AN

atom formulated for the second time after Lomonosov?

11. Do molecules and atoms possess all the properties of an ordinary

body?

12. What kind of a problem did Lomonosov set himself?

Ynpaxkuenue 15. IloBTopHTeE cAOBaA:
Law, conservation, matter, motion, property, to assert, to create, to

maintain, compound, minute.

YopaxkueHue 16. Ynorpebure npenasoru: of, to, with, in, into, on,

at, mepeBeaure.

bk owb=
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8.

9.

Lomonosov went abroad ... some students.

He enriches science ... his experiment ... atmospheric electricity.
Lomonosov was a man ... science and a poet ... the same time.
Lomonosov gave all his life ... the development ... Russian science.

Russia ... those days had no experience ... the production ... stained
glass.

Lomonosov was one ... those scientists who combined study ... practice ...
his work.

. He formulated some technical principles which had a great effect ... the

development ... physics.

He introduced some technical terms which were new ... the Russian
language ... his time.

What street do you live ...?

10. When I came home, I turned the radio ... and listened ... the news.

11. Do you often go ... town ... Sundays ... summer?

13



12. What is ... at the theater now?
13. He ran ... the room full ... people.
14.If there isn’t any medicine ... the bottle, put some ...it.

PASEA 3. TEKCT “MENDELEYEV’S PERIODIC TABLE”

YunpamxHeHue 17. CAoBooOpazoBaHHe.

a) OT mnpHaaraTeAbHBIX c cyddurcamu -ant, -ent oOpasyiTe
cyliecTBHTeABHBIe ¢ cyddukcamu -ance, -ence. IlepeBeanTe Ha pPyCCKHH
sI3BIK KaK Te, TaK H ZApyTHe.

ascendant, descendant, expectant, important, resistant, dependent,
different, existent, insistent

b) OOpa3syiiTe CYLWIECTBHTEABHBIE OT CAEAYIOLIHX TAaroAOB C
IOMOILIbBIO TeX XKe cypdPpHKCcOB, nepeBenHTE:

-ance: appear, assist, attend, enter, perform

-ence: differ, depend, refer, exist, correspond

YunpaxHeHHe 18. IlepeBenuTe Ha pPycCCKuH AA3BIK
HHTEPHAIlHOHAABHBIE CAOBA:

Discussion, congress, conference, storm, expedition, lecture,
examination, general, periodic, classification

YnpaxueHune 19. BelydHTe CAOBa H BBIpaiKE€HHS K TEKCTY:

law 3aKOH

dependence 3aBUCHUMOCTD

property CBOMCTBO

to suggest npeagaaraTthb

to arrange IIPUBOAUTE B IOPSZIOK, yCTPAUBaTh, YAQXKUBATD
order OPSIA0K

main rAaBHBIH

periodic IEPUOANIECKUH

repetition IIOBTOPEHUE

atomic aTOMHBIN

to predict I[IPEACKAa3bIBATE

existence CyllleCTBOBaHUE

unknown HEW3BECTHBIN

eka-boron sKabop (cTapoe Ha3BaHUE CKAHIMA)
scandium CKaH UM’

eka-aluminum 5KaaAlOMHUHUH (CTapoe Ha3BaHHUE TaAAMs)

14



gallium ranaui

eka-silicon SKaCHAUIINH (cTapoe Ha3BaHHe repMaHUs)
germanium repMaHui

gap Opeuib, IIpodea

disposal PacIoAOKeHHE, paCIlOpsIsKeHUEe

to expect OXXUIAaTh

to refer to CcCbIAQThCA Ha

to solve peuiaTth

research Hay4YHOE HCCAEIOBAHUE

importance BaXKHOCTbh, 3HAUYUTEABHOCTD

bulwark omnaoT, 6acTHOH

Ynpaxuenue 20. IIlpounTalTe H NEepeBeAHTE TEKCT
Mendeleyev’s Periodic Table

D.I. Mendeleyev, the great Russian scientist, one of the great bulwarks of
the atomic theory, was born in Tobolsk in 1834. He was the first to discover the
law of dependence of the properties of the elements upon their atomic weights.
Mendeleyev suggested a system of classification in which the elements are
arranged in the order of increasing atomic weights. He published his famous
“periodic classification” in 1869.

The main idea of the Periodic System is that of the periodic repetition of
properties with the increase of the atomic weights. He predicted the existence
of unknown elements which he called eka-boron, eka-aluminum and eka-
silicon and for which he left gaps in his table. He even described the properties
of these elements. The discovery of gallium in 1875 was followed by the
discovery of scandium (eka-boron) in 1879 and the discovery of germanium
(eka-silicon) in 1886. No gaps are left now for undiscovered elements.

With the Periodic Table at his disposal a chemist needn’t learn all the
properties of all the elements when he knows the properties of the one or two
elements in each group. The Table will give him a very good idea of what to
expect of the other elements. The Table is, was and will be referred to and used
in solving research problems of industrial importance.

YnpaxkHeHHe 21. OTBeThbTe Ha BOIIPOCHI:

1. Who was D.I. Mendeleyev?

2. When and where was he born?

3. What did he discovered?

4. What did he suggest?

5. In what order are the elements arranged in his system of
classification?

6. What is the main idea of his Periodic System? What does the periodic
repetition of properties of elements depend upon?
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7. What elements did he predict?
8. He described the properties of the predicted elements, didn’t he?
9. Why were there a number of places in his table which were to be

filled?

10. What did Mendeleyev do with those places in his table?

Yunpaxuenue 22. IloBTopHuTeE cAOBaA:
To classify, to depend on (upon), to exist, to expect, to predict, to refer

(to), to solve, gap, importance, law, order, property, research, to suggest, at
(one’s) disposal.
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YunpamxueHnue 23. [loabepHTe CHHOHHMEI K CAEAYIOILIHM CAOBaM:
To produce, to supply, to exceed, to reach, famous, vehicle, automobile.

YnpamxueHue 24. IlonbepHTe aHTOHHMBI K CACAYIOLUIHM CAOBaM:
Direct, high, easy, input, to reduce, costly.

Ynpaxuenue 25. IlepeBeanTe Ha aHTAHHCKHH fA3BIK:

. .. MerneaeeB — BEAUKHUU PYCCKHUUN y4EHBIN-XNMHUK.
. OH ObIA IEPBBIM, KTO OTKPBIA [lepruoauyecKuii 3aKOH XUMHUYECKUX

QAEMEHTOB.

. MeHnneaeeB IIPOAEAAA TBICAYH OIIBITOB U BBIYHUCACHUH.

Bce aaemenTs! B ero Ilepuonuyeckoil cucTeMe pacllOAOKEHBI 10
BO3paCTaHUIO UX aTOMHOIO Beca.

MeHpgeaeeB IIpefickasaa CyIIleCTBOBAHHE HEM3BECTHBIX SAEMEHTOB.

Bckope 9T 5A€MeHThI ObIAU OTKPBITHI.

Ero ITeproanyeckuii 3aKOH 3A€MEHTOB HUCIIOAL3YETCS B PEIIeHHU HAayYHbBIX
mpobaem.

YnpaxxHenue 26. IlepeBenure:

A

1. They are to begin this work at once.

2. He is to come here tomorrow.

3. I was to send him a telegram but I forgot.

4. The goods were to be delivered at the end of the month.
B

1. I have to get up early on Mondays.

2. They had to go there.

3. He will have to do it.

4. He has to post the letter at once.

5. I cannot leave yet, I have to speak to the dean. I must hurry because I
have to be there at four.
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YPOK 2

PA3BIOEA 1. TPAMMATHKA
1. Au4gHBIEe U NPUTIKATEABHbIE MECTOUMEHUS.

2. IlpurazkaTeAbHBIN 1€ CYILLIECTBUTEABHOIO.

3. MogaabHbIE TAAQT'OABI.

AunyHbIC H IIPHTAXATCABHBIC MECTOHMCHHSA.

AW4YHbIE MECTOMMEHUSA [IpuTakaTeAbHbIE MECTOUMEHUS
(geti?)
UmMennteabHBI mnamex | OOBEKTHBIN OnpeneaeHue, AGOcoaAroTHAYg
(momaexxarriee, CTOUT | Iaaex nepen dopma, 6e3
repen CKasyeMbIM) (mommoaHeHUe: CYLIECTBUTEAb- | CyLIECTBUTEAD-
KOIro? KOMYy?, HBIM HOTO
CTOUT IIOCAE
CKa3yeMoro)
I q me my mine
you | Thl/BBI (ea. | you your yours
YHICAO)
he OH (0 AIOSX) him his his
she | oHa (0 Aronax) her her hers
it OH, OHa, OHO |it its its
(HeomyIEeBAEH-
Hoe)
we MBI us our ours
you | BBI (MH. YHCAO) you your yours
they | onm them their theirs
[Ipumepsl
I have asked him to phone you today. |51 mompocua ero II03BOHUTHL Tebe
CEroHs.
They are our friends. OHU — HaIIH IPY3bd.
They are friends of ours. OHu — HaIIH IPY3bs.
I know him and his wife. 51 3HAIO ero 1 ero KeHy.
Each substance has its own | Kaxkmoe BEIIIECTBO UMeEEeT CBOH
properties. coOCTBEHHBIE CBOMCTBA.

Studying a device you should see its
work.
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[IpuMmeyanud.

Mecroumenue it MoxkeT OBITH (POPMAABHBIM IIOJAEKAIIMM  HAU
dopMaAbHBIM JIOIIOAHEHHEM. B 3THX cAydasX OHO He IIEPEeBOAUTCHA Ha PYCCKUU
a3bIK. CpaBHUTE:!

It is interesting to study a new | M3yyaThs HOBBIY IpeaAMeET HHTEPECHO.
subject. (popMmaabHOE IOAEKAIIIEE, HE

II€PEBOAUTCS)
We began to study a new subject. It is | Mbl Hayaan u3ydaThb HOBBIM IIpeaMeET.
interesting. (monmaexkainee, | OH UHTEPECHBIH.
II€PEBOAUTCS)
Pycckomy MIPUTIKATEALBHOMY MECTOUMEHHUIO «CBOM» MOZKET

COOTBETCTBOBATEL AI0OO€E M3 aHTAUMCKUX IIPUTAXKATEABHBIX MECTOMMEHUH.

He opened the door with his key. | OH OTKpPBIA ABEPH CBOHM KAIOYOM.

We have already submitted our course | Ml yke cmasaum CBOH KypCOBBIE
projects. paboTHhI.

YnpaxueHue 1. I[IlepeBeauTe Ha PYCCKHH fI3BIK, OOpalass BHHMaHHE
Ha IIepeBOJ CAOBaA its.

Each factory developed its own equipment.

Each method has its own advantages and disadvantages.

Each tree forms its own type of cells.

We will see the production process and its end product.

The old machine still works but its operation is inefficient.

Artificial intelligence makes its own conclusions.

This subject is simple in its logic.

We will study this method from its development to its use in production.

WO Nk b=

. The system interacts with its environment.
10 The computer's ability to do different work explains its wide use.
11. The operator examined the machine without diminishing its speed.

VnpaxkHeHHe 2. IlepeBeauTe Ha aHTAHMHCKHH $3BIK, oOpamias
BHHMAaHHE Ha BBIZIEA€HHEBIE CAOBA.

1. TsI moTepaa py4dky? Bo3pMHu MO0, OHa Ha CTOAE€.
2. 51 He KyniHMAa 5Ty CYMKY, MHE HE [IOHPaBHACH €€ IIBET.
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3. OTo He e€ BHUHA.

4. CTymeHTbl JOAXKHBI CIATh CBOH KyPCOBBIE pabOThI 10 9K3aMEHOB.

5. MHe nonapuan cMapT@OH, OH 0OY€Hb YIO00HBIH.

6. ToI 3HaEIIb, I'/I€e HAXOAUTCH UHCTUTYT TEXHOAOTHH? — OH Ha 4eTBEPTOM
3Taxe.

7. Baury KOHTPOABHYIO paboTy He IIPOBEPHAU, [IOTOMY YTO OHA HEIIPABUABHO
odopmaeHa.

8. 51 ynraa KkHUry KuHra, Ho He IIOMHIO €€ Ha3BaHUd.

Hpn’rﬂxa'rezu.nmii nmagexX CymeCTBHTEABHOI'O

Y  CYIIECTBUTEABHBIX €CTb IIPUTAXKATEABHBIH TIamexx — d¢opma,
oTBedamwIlasd Ha BoHOpoc «deid?». OOBIYHO Takyio QopMy o00pas3yloT HMeHa
coocrBennnle (Shakespeare’s plays), caoBa, obOo3Hauaronme aAwoned (the
teacher’s question), coOuparteabHBIEe cCylIecTBUTEABbHBIE (the government’s
policy) u HEKOTOpBIE APYTHE.

Hanpuwmep:

friend Apyr

friends py3bsi

friend’s (birthday) (meHb poxkaeHUs) apyra
friends’ (birthdays) (DHM poxkaeHUs) Apy3en

OOpatuTe BHUMAaHHE, UYTO CYIIECTBUTEABHOE B IIPUTSIXKATEABHOM IM1a/1€3Ke
CTOUT II€PE APYTUM CYIIECTBUTEABHBIM.

HeonynieBA€HHBIE CYIIECTBHUTEABHBIE, KaK IIPaBHAO, He o00pa3yroT
IIPUTAXKATEABHBIN 113K

Newton’s law — 3akon HbeloTOHA, HO:

gravitation law — 3akoH rpaBuTanU

YanpaxkueHHue 3. [lepeBeanTe Ha aHTAHHCKHH SI13bIK CAOBOCOYETAaHHA:

[lepuonuyeckad  cHUCTeEMa  3AEMEHTOB, IepuoarudYecKad  cucreMa
MenneaeeBa, Macca aroma, IIaMdaTh KOMITBIOTEpPA, IIOBEAEHHUE AIOAEM, pacckas
Arater  Kpuctu, paBukeHHEe — 3eMAH, HaceAeHUe Poccuwn, CTOAHIIA
BeankoOpuTaHUH, CHAA TPABUTALIHH.
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MoaoaAbHBIE T'AaroAbI

MonaabHBIE Bpemena

raaronbl ¥ ux | Present Past Future
5KBUBAAEHTBI

can can work could work —

to be able to

am (is, are) able to

was (were) able to

shall (will) be able

MOTY, YMEIO work - mory | work — mor /ywmea | to work — cmoxert /
/MOXKeT /yMmeeT | paboraTtb cymeeT paboTaTh
paboraThb

may may work might work —

to be allowed to | am (is, are) allowed | was (were) allowed | shall (will) be

MOTY, MOXHO, | to work - wmory/ |to work — mor /|allowed to work -

pasperrneHo MOKHO/ paspelnieHo | Obia0 paspelieHo | cmory  / Oymer
paboraThb paboraThb MOXKHO paboTaTh

must must work — —

to have to have (has) to work — | had to work - |shall (will have to

JIOASKEH, Hamo, | JOAXKEH / | moaxxeH ObiA | work —  moAIKeH

HY2KHO IIPUXOAUTCS paboratb b6yny paboraThb
paboraThb

to be to am (is, are) to work | was (were) to work | —

JIOAKEH, — IOAKEeH paboTraThb |— MOOAXKEH  ObIA

IPEaCTOUT, paboraThb

(obycaoBaeHO

3apaHee

HaMe4YeHHBIM

IIAQHOM)

should + This equipment should be handled carefully. — C sTum

UHPUHUTUB 6e3
“to?

IOOAYKEH, MOAXKEH
OFBI, cAemyerT,
CAEIOBAAO ObI
(HacTaBA€HUE)

000pyI0OBaHHEM CAELYET O0paIaThCd OCTOPOIKHO.

ought to

JOAXKEH, CAEOyeT
(coBer,
MOPaABbHBIN

LIOAT)

The results of this experiment ought to be checked.

PesyabTaT 5TOr0 3KCriepuMeHTa Hazlo IIPOBEPUTD.
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to have to: We have to solve this problem. — Msbr moaxkubr (Ham
IIPUXOAUTCS) PEUIUTE 3Ty 3a1a4y.

Buaumanue! HE TIYTATB! 1) We have solved this problem. (have + 3
dopma raarona = raaron B omgHoM u3 BpeMéH rpymnmbl Perfect, have =He
nepeBoauTcs) — MbI perrnau oty 3anady. 2) We have a problem to solve. (have —
CMBICAOBO TAQroA «MMeTh») — Y Hac eCThb 337a4a, KOTOPYIO HY?KHO PEIlUTh.

to be to: They are to carry out the research. — OHu moaxunr (MM
IIPEICTOUT) IPOBECTH HUCCAEOBAHUE.

Buumanue! HE ITYTATB! 1) They are carrying out the research. (be + -ing
= raaroa B omgHoM mu3 BpeMéH rpymmbl Continuous, be He nepeBomuTca) — OHU
npoBondat uccaenosanue. 2) They are in the laboratory when carrying out the
research. (be — CMBICAOBOM TAaroa «OBITb, SIBAATBHCH, HaXOAUThCs») — OHHU
(HaxonaTcs) B AabopaTopHH, KOTria IPOBOAST HCCAEJOBAHUE.

YnpaxueHue 4. [locTaBhTe KaxkaoOe€ H3 NPEAAOKEHHH B IIpolleAllee
BpeMmsa (Past Indefinite) u Oyaymee Bpems (Future Indefinite), mo6aBnTE
obcTosAITEABCTBA BpEMEHH, €CAH HYKHO. [lepeBeaHTe BCE NMOAYYHBUIHECSH
BapHaHTBHI.

1. My daughter can sing very well.
Everybody can do this work.
Can you play chess?
This girl cannot take part in the discussion.
The Orlovs must move to another town.
He must have teaching practice in his fourth year.
The boys must run to get to the station on time.
Must he read all the books on the reading-list?

® NGk LN

YonpaxHeHHe 5. BcTaBbTe raaroA can HAH €ro 3KBHBAaA€HT B
HYyXHOH ¢dopme, oOpaliass BHHMaHHe Ha BpeMs; nepeBeauTe. B cKoOkax
yKa3aHoO, Ile Hy3KHO NO00aBHTH OTpPHILAaHHE.

1. ... you play chess a little? — I ... when I was at school butI ... now. (2nd
verb neg.)

He has been ill for a long time. I suppose he ... write this paper. (neg.)

I ... remember her address. (neg.)l ... even remember the street. (neg.)
You've put too much in your rucksack; you ... never carry all that.

When [ was a child I ... understand adults, and now that [ am an adult I
... understand children. (neg., neg.)

kL

o

Don't try to look at all the pictures in the gallery. Otherwise when you get

home you ... remember any of them. (neg.)

7. When I first went to England I ... read English butI ... speak it. (2nd verb
neg.)

8. ...you ... come to my place tomorrow? — Yes, I ... come at 8 o'clock.
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YnpaxHeHne 6. BcTaBbTe raaroan must HAH ero 53KBHBaA€HT B
HYXHOH ¢popme, oOpaiiasgs BHUMaHHE Ha BPEMSA; IepEeBEAUTE.

Last term she ... leave home at eight every morning.

He sees very badly; he ... wear glasses all the time.

You ... read this book. It's really excellent.

She felt ill and ... leave early.

Bob ... cook his own meals. His wife is away.

The buses were all full; I ... get a taxi.

Tell her that she ... be here by six tomorrow, I insist on it.

I got lost and ... ask the passerby to show me the way.

If you want to have this book, you ... come to my place in the evening.

OO Noh b=

Ynpamxuenue 7. IlepeBeauTe Ha aHTAMHCKHH a3bIK. OOpaTHTe
BHHMaHHEe Ha TO, YTO B HEKOTOPBIX CAy4YasAX MOKHO HCIIOAbB30BaTh
Pa3HBIE TAAroAbI, CMBICA IIPH 3TOM OyZeT HEMHOrO pa3HbIH.

1. 4 mory nmokasaTb BaM O4€Hb UHTEPECHYIO CTATBIO.
. MBI 1OAKHEBI OBITH Ha AEKIIUHM B IIOHEIEABHUK.

W N

MbI HE MO3KeM O0CYzKOaTh 9TH BOIIPOCHI TIOCAE 3aHSTHUH, IIOTOMY YTO S
JOOAYKHA YXOOUTh.

9 moakHa modTH K 6a0yIlIKe B BOCKPECEHBE.

OHa MOXKET IIEPEBECTH 3T aHTAUNCKHUE TEKCTHI?

OH MOZXKeT yexaTb B Cy00OTY.

BbI m0AKHBI ITOEXATh C AETHMHU 32 TOPOI AETOM.

OH He MOKEeT OTAaTh BaM CBOM CAOBaphb.

MBI [OAKHBI BEPHYTH 3TH XKypPHaAbI CETOIHHA ?

0. Bel Mo3KeTe IIOI0XKIATh B MOEM KaOHMHETE.
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PASEA 2. TEKCT “ISSAC NEWTON”

YnpaxkHeHHe 8. CAoBoOOpa3oBaHHE:

a) mepeBeAHTE AAaHHBIE CAOBA H HX INPOH3BOAHBIE C NpedHKCOM
anti- (vacTo mHIIyTCA Yepe3 YEPTOUKY):

aircraft — anti-aircraft cyclone — anticyclone

fascist — antifascist

0) mepeBeAHTE AaHHBIE CAOBa H HX NPOH3BOAHBIE C IpedHKCOM
counter- (cooTBeTCTByeT B pPYCCKOM $fA3bIK€ IIpHCTaBKaM KOHTp-,
NPOTHBO-; YaCTO NMHUIETCA Yepe3 YEPTOUKY):

to act — to counteract action — counteraction

attack — counter-attack offer — counter-offer

claim — counter-claim

22



B) nNepeBeAHTE AaHHbIE CAOBAa H HX NPOH3BOAHbIEe C nNpedHKCOM CO-
(npedbukrc co- o3HawaeT oOlIee AeHCTBHE, COTPYAHHYECTBO; YaCTO

IMHIIETCA Yepe3 YEPTOUKY):

author — co-author

existence — co-existence

education — co-education
operation — co-operation

I) mnepeBeAHTE CAOBA H HX NPOH3BOoAHbIe c cyddukrcom -dom:

free — freedom
king — kingdom

wise — wisdom

YnpaxHeHHne 9. BoiyuHTe CAOBa H BBIpaxKeHHS K TEKCTY:

degree

to appoint
chair

to deliver
conclusion
ray

to bend (bent, bent)
gravity

to pull

pull

path

to account for
ceaseless

to deduce
uniformity
link

insight
gravitation

CTeleHb (y4€Had), rpaayc, CTyII€Hb
Ha3Ha4YaThb

Kademapa

JAOCTaBAATh, Bpy4aTh; YUTATh (ACKIIHH)
3aKAIOYEHUE

Ayd

crubaThCcd, N3rUdaThCs, HAKAOHATHCSH, THYTHCS
CUAQ TSIXKECTHU

TSIHYTb, TAlTUTH

BAUSTHHE

IyThb, JOPOKKA

OOBACHATH

HEIIpPEePbIBHbBIN

[eAaTh BBIBOL

eaAuHOOOpa3ue, OJHOPOHOCTE

3BEHO

IIOHUMAaHUE, IIPOHUIIATEABHOCTDb
TATOTEHUE, IPUTIXKEHUE

Yunpaxuenue 10. IIpounTaiiTe H NepeBeAHTE TEKCT

Isaac Newton

Isaac Newton was born in a farmer’s house on December 25, 1642 in a
little village not far from the old university town of Cambridge.
His family wanted him to become a farmer, but with no success, as his

mind was always busy with observing various phenomena of nature. He
studied at Cambridge at mathematical course. Some years later after having
taken his degree he was appointed professor to the chair of physics and
mathematics at Cambridge. He delivered lectures in optics. The study of light
was Newton’s favorite study. He came to conclusion that white light consisted
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of rays of different colours and that each particular kind of coloured ray was
different bent when it fell on a glass surface at the angle. His results formed
the bases of modern spectrography. The theory of gravity was developed by him
when he was only 24. Having seen the fall of an apple he came to the
conclusion that the apple and the earth were pulling each other, and he began
to think of the same pull of gravity extending far beyond the earth. The
problem of the paths of the planets, one of the greatest problems of those
times, was “What laws could account for the ceaseless motion of the planets
round the Sun?” Newton deduced and calculated the force of gravity action
between the Sun and the planets, thus establishing the law of gravitation. By
discovering this law, he demonstrated the uniformity of things and found a
connecting link between the mechanics of the earth and the mechanics of the
heavens.

His great work “Principia”, published in 1687, gave an insight into the
structure and mechanics of the universe. He also discovered the laws of motion
which we still consider to be the basis of all calculations concerning the
motion.

Ynpaxuenune 11. OrTBeThTe Ha BOIIPOCHI.

When and where was Isaac Newton born?
What did his family want him to become?
Where did he study?
Where did he take his degree?
What was he appointed after having taken his degree?
What was his favorite study?
What was Newton’s discovery in the field of optics?
What conclusion did he come to after having seen the fall of an apple?
. What was one of the greatest problems of those times?
10. What force acting between the Sun and the planets did Newton
calculate?
11. What laws did Newton discover?

WO Noh b=

YunpamxuHeHune 12. [IlepeBeauTe C aHFAHHCKOIrO Ha PYCCKHH S3BIK.

Although a genius of science, Newton owned much to his predecessors
(mpenuiecrBeHHUuKH). The year of his birth was the year of the death of Galileo.
Galileo had founded the science of mechanics, and his application of the
astronomical telescope (then recently invented) had been of the greatest help in
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the study of the heavens. Copernicus, Brahe and Kepler had overthrown the
old conceptions of the earth as the centre of the universe.

Newton himself modestly said: “If I have seen farther than most men, it is
by standing on the shoulders of giants”.

While studying light, Newton invited the reflecting telescope. It was only
an inch in diameter, and six inches long, but it magnified forty times and gave
a good view of the Jupiter’s moons. He made a larger one. You can see it in the
library of the Royal Society in London, and there you can read: “The first
reflecting telescope, invented by Sir Isaac Newton, and made with his own
hands”.

YnpaxkuneHune 13. IlepeBeauTe C pyCCKOro sI3bIKa Ha aHTAHHCKHH.

1. Ucaak HproTOH ponuacs B ceMbe (pepMepa, HO CTaA BEAUKHUM YIEHBIM.

2. OH OYE€HBb UHTEPECOBAACH PA3AWYHBIMHU SIBACHUSIMH IIPUPOIBI.

3. OH 3aHUMaACsS MaTeMaTUKON, PU3UKOU, YUTAA AEKIITUHU T10 OIITHKE,
BO3TAaBASIA Kadenpy.

4. OH u3y4aa pa3AU4HBIE CBETOBbIE IBACHU.

5. OH u3y4Jaa BAUSTHHUE CHUABI TSI3KECTU U IIPOOAEMbI IBUKEHUS IIAQHET.

6. HEI0TOH OTKPBIA 3aKOH B3aUMHOTO TSITOT€HUS U 3aKOHbI ABHUKEHUS.

Ynpaxuenue 14. IlepeBennTe cAenyIOIIHE I'PYININBLI CAOB:
the gravity distribution; the modern physics development; the universal

gravitation law; the calculation process; the world science problems; the
displacement phase angle.
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YPOK 3

PASIEA 1. TPAMMATHKA
1. CreneHH CpaBHEHHUS IIpHUAATATEABHBIX U HAPEYHH.

CpaBHI/ITeABHBIC KOHCTPYKIIUH.

2
3. CAOBO as: 3Ha4Y€HUd, IIEPEBOL.
4

Hactu peuu. KouBepcud.

CTeneHH CpPaBHEHHA NMpPHAAraTeAbBHBIX H Hape4YHH

IIOAOZKHUTEABHAA

CpPpaBHHUTEAbBHAA

IPEBOCXOJHAST

OIHOCAOZKHEBIE CAOBA

cheap — meméBpIit

cheaper — gemeBae,
doaee meliéBbIlii

the cheapest — cambrit
[EIIEBBIN

fast — 6pICTpPO

faster — 6pIicTpEe, Ooaee
OBICTPO

fastest — 6pICcTpEe Bcero

[IBycaoKHBIE 1 ODoAee TAMHHBIE CAOBA

important — more important — the most important — camplit
BasKHBIN BaykKHee, boAee BasKHBIM BasKHbIN, BacKHEUIITUH
carefully — more carefully — most carefully - axkkypaTHee
aKKypaTHO akKypatHee, boaee BCET0

aKKypaTHO
HUckarouenua

good — xopomni,
well — xopor1io

better — aAyure

the best — (Hau)ayumuii, cambIit
AYYIIIUM, AYYIII€ BCETO

bad — naoxoii,
badly — rmaoxo

WOrs€ — XyzXe

the worst - (Ham)xymmui,

caMbIM ITAOXOM, XYK€ BCETO

much — MHoTO,
many — MHOTO

more — OoABIIIE, DoAee

the most — cambIiii OOABIIIOH,
HauOOABIIIEE KOAMYECTBO

little - Maao, | less — MeHEbIIIEe, MeHee the least - HauMeHBIIIee
MaA€HBKHH KOAHUYECTBO, MEHBIIIE BCETO

far - maanéruii, | farther — 6oaee manékuii, |the farthest, the furthest -
AaAEKO JaABIIIE, caMbIl  Oasnékum (maanpHU),

further — naapHeNIIHHI

JAABIIIE BCETO
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Pycckomy coro3y «uem» coorBeTcTByeT coio3 than. OOparure BHUMaHUE
Ha pas3Hble BapUaHTHI IepeBoaa:

My friend takes photos better than I. — Mo# apyr dotorpadpupyer Aydiiie,
yeM g. = Mo#t apyr dpororpadupyeT AydIlle MeHsI.

Ecau caoBo most (of) oTHOoCcHUTCS K CyIIIeCTBUTEABHOMY, OHO IIE€PEBOLUTCH
«OOABIITHHCTBO», «O0OABIIIAS YACTh.

Most of the students in our group study English. — BoasmuHCTBO
CTYZAEHTOB HallleH IPYIINbl U3YyYaIOT aHTAUMCKHUH A3BIK.

Ecau miepen cpaBHHUTEABHOM CTEIIEHBIO CTOST CAOBa much, far, still, To ux
CAEyeT IEPEBOAUTH — ropasgo, HAMHOIO, 3HAYHUTEABHO (T.€. OHH yCHAWBAIOT
CPaBHHUTEABHYIO CTEIIEHB):
fast — 6wIcTpO, faster — GrIcTpee, much faster — ropaszmo ObicTpee
beautiful — kpacuBsiii, more beautiful — kpacuBee, much more beautiful —
ropaszo KpacuBee

YopaxkHueHHe 1. PackpoiiTe CKOOKH, MOCTaBHB IIpHAAaraTeAbHOE B
HyxkHYyI0 bopmy. IlepeBenuTe.

He was the (amusing) lad you ever met.

Today I'm no (wise) than yesterday.

Jack is the (clever) of the three brothers.

He felt (bad) yesterday than the day before.

Of the two evils let us choose the (little).

He was the (late) man to come.

A bus is (fast) than tram.

Who is (attentive) student in your group?

. Chinese is (difficult) than English.

10 He turned out to be (angry) than I had expected.
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YnpaxueHnue 2. IlepeBenuTre.

Hua nananee Boaru.

Kakoii mecs1] caMbIii KOPOTKUU B roay?

['oBopure, noxaayiicra, THILIE.

3aBTpa MOXKHO BCTaTh I1033Ke, IIOTOMY YTO HaM He HaJo exaTh Ha padorty.
BrI Hanmcaan paboTy HAMHOIO AYYIIIE BCEX.

Bp1 crapiie Bamrero gpyra?

Kakoe camoe BbICOKOE 31aHue B MocKBe?

Nk b=

Kakas crpaHa umeeT caMoe OOABIIIOE HACEACHHE?
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9. Kakoii g3bIK caMbI¥ pacIpoOCTpaHEHHBIN B MUpeE?

10. B mae 0OBIYHO ropasio TeIlAee, YEM B aIlpeAe.

11. [laBaiiTe BCTPETUMCS 3aBTpa paHbIIIE.

12. Ay4iiie mo3gHO, YeM HUKOT/A.

13. CerogH4ga Aoy ropa3go MEHBIIIE ABUTAIOTCS, YEM pAaHbIIIE.
14. KTo Ooabille 3apabaThIiBaeT: YIUTEAS UAU Bpadu?

CpaBHHTEABHBIE KOHCTPYKIIHH
As...as — TakOM XkKe...KakK, TakK XKe... KaK
Not so...as, not as...as — He TakKoOM...KaK, HE TakK...KaK

As (large, low, rapidly etc.) as possible — Kkak MoxkHO (OoaAbllle, HUXKE,
ObICTpEe U T.m.)

Pycckasa cpaBHUTeABHAsI CTEIIEHDb ITOCAE€ BBIPAXKEHUH «B IBa pas3ar, «B TPHU
pasa» W T. . TepemaeTcd B AaHTAHMHCKOM $3bIKE IIPHUAAraTeAbHBIM B
IIOAOXKHUTEABHOU CTEIIEHH, CTOAIINM MEXKIy as ... as:

Your room is twice as large as mine. — TBog KoMHaTa B ABa pa3a 0oAblIIe,
4eM MOs.

Korma BTOpoii O0OOBEKT CpaBHEHUd He YIIOMAHYT, TO “as” 1mocae
IIPHUAAraTeABHOTO He yIIOTpebAseTcs:

This grade is twice as expensive. — OTOT COPT B [IBa pa3a JOPOXKe.
Ynpaxuenue 3. IlepeBexaure.

This box is three times as heavy as that.

He has twice as many books as I have.

Today we have loaded three times as much wheat as yesterday.
He is twice as old.

I paid for the book half as much as for dictionary.

[ have half as many English books as French.

He is half my age.

My room is half the size of yours.

My trunk is half the weight of yours.

e ol o

YnpaxHeHHe 4. BcraBeTe than uau as. IlepeBeanuTe.

This task is more difficult ... the previous one.
He is the same age ... his wife.

My brother is not as young ... yours.

Brazil is larger ... Spain.

b=
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His car isn’t as expensive ... mine.

Can you answer as soon ... possible?

My mother is younger ... my father.

He doesn’t earn as much ... his wife.

I don’t know anyone who reads more ... he does.

O Is this task as difficult ... the previous one?

Ynpaxkuenue S. IlepeBenure.

Mog kBapTupa TakKas ke 0oAblIadg, Kak ero.

Buepa Ob1AO HE TaK XOAOTHO, KaK CETOIHS.

BrBI MmOkeTe ocTaThbCd Y HAC CTOABKO, CKOABKO XOTHUTE.

91 kaTarOCh Ha BEAOCHUIIE/Ie HE TaK MHOTO B 3TOM IOy, KaK B ITPOIIIAOM.
OTOT TaKCHUCT HE TaK XOPOIIIO 3HAeT TOpPoM, KaK €ero KOAAera.

Ora yauiia 6yneT Takad XKe KpacHhBas, Kak Ballla.

91 He 3HAI0 O MaIIMHAX CTOABKO, CKOABKO OH.

OOpatuTe ocoboe BHUMaHUE Ha [EPEeBO KOHCTPYKIIHH:
the + cpaBHUTEABHAada CTENEHD (,) + the + cpaBHUTEABPHAs CTEINIEHD —

YEeM... TeM:

The earlier you start to study a foreign language the better. - Yem

PaHBIII€ HAYMHACIIb U3y41aTh HHOCTpaHHbIﬁ 43BbIK, T€M Ay4YllIe.
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Yupaxuenue 6. IlepeBeaure.

Yewm OoAbIIIE S AyMaA 00 3TOM IIAAHE, TeM MEHBIIIe OH MHE HPaBHUACS.
YeMm TpyaHee 3amada, TeM HHTEPECHEE €€ perIaTh.

Yewm mupe gopora, TeM MeHbIe ITpobok (traffic jams).

Yem BekAMBee BBI Oyzete, TeM 3(ppeKTHBHEe OyaeT Ballla IIpe3eHTalIlusd.
Yem MeHbBIIIEe O0arazk, TEM AydIIIe.

CaoBoO as: 3HA4YECHHs, IIepeBon

CaoBO as ObIBaeT IIPEOAOTOM HAHM COIO30M, a TaKZK€ BXOAUT B COCTAaB pdaa

BbIpakeHUH. [lepeBoauTCS IIpU 9TOM IIO-Pa3HOMY.

1. IIpemaor “as” CTOUT Iepeln CYILIECTBUTEABHBIM, II€PEBOAUTCS: KaK, B

Ka4decTBe, U AU obo3HayaeT JOAZKHOCTD, npocbeccmo.

We use wood as a raw material. — MbI UCIIoAB3yeEM APEBECHUHY KaK ChIPbE

(B KauecTBeE CBIPHS).
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My friend works as a waiter. — Mo# apyr paboTaetr opUIIHAHTOM.

2. Coro3 “as” CTOUT B CAOKHOM MPEOAOKEHHUH, TTIEPEBOIUTCS:

1) mo Mepe TOro Kak:

As technologies develop, devices are getting cheaper and cheaper. — Ilo
Mepe TOro, KaK TeXHOAOTHH Pa3BUBAIOTCS, YCTPOHUCTBA CTAHOBSITCS MAEIIEBAE U
[eIIeBAE.

2) Kkorga, B TO BpeMs Kak:

As ] was leaving, the phone rang. — Koraa s yxonua, 3a3BOHHA TeA€(OH.

3) Tak Kak, [IOCKOABKY:

As there were many new words in the text, I used a dictionary. -- Tak
KaK B TE€KCTe ObIAO MHOT'O HOBBIX CAOB, SI TIOAB30BAACS CAOBApPEM.

4) Tak, KakK; Kak:

I acted as you suggested. — 9 mocTynua Tak, Kak ThI IIPEIAOKHA.

She was late, as usual. — Ona omno3mgasa, KaK OOBIYHO.

3. CAOBO as BXOOUT B COCTaB Psia BhIPpaIKE€HHH:
as for, as to — 4To Kacaercsa

as if, as though — kak OyaTo, KaK ecau 6b1

as long as — moka

as soon as — Kak TOABKO

as well as (as well) — Toxke, a TakKe, Tak Ke Kak U
SO as — Tak, YTOObI

such as — Takue, Kak

YnpaxkHeHHe 7. [lepeBennTEe NpenAOKEHHS, obpallas BHHUMaHHe Ha
nmepeBok CAOBa “as”:

1. As the satellite moves forward, its path is curved by the pull of gravity.
The shop sells computer parts such as keyboards, screens and disk
drives.

N

As the velocity of the air increases, the pressure decreases.
Activities such as logging and mining deplete our natural resources.
As thrust and drag are equal, the airplane flies at a constant speed.
The device should be fixed as soon as possible.

Science will be benefited as long as there is a healthy relationship
between science and technology.

8. Mars rotates at about the same rate as the Earth.

No s W

9. She continued the conversation as if he hadn't said anything strange.
10. He obtained this substance as stated above.
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YnpaxkHeHue 8. H3aMeHHTe cAeAYIOLIHE NPEOAOKEHHS II0 MOLEAH:
My brother as well as my sister is learning to drive a car. — Both my
brother and my sister are learning to drive a car.

I like symphony concerts as well as operas.

This book is useful for children as well as for grown-ups.
My sister as well as my brother is a student.

This kind of work is useful as well as interesting.

b=

YacTHu peuyn. KouBepcHsa

AT TIpaBUABHOIO IIEpeBOAA AHTAUPCKHUX IIPEIAOKEHHH HEeOOXOIUMO
IIOHMMAaTbhb, KAKMMH YaCTIMHU PEYH ABASIOTCHA T€ HAW HHBIE CAOBa. HacThb pedu
CAEAyEeT OIPENEAUTH AO TOr0, KaK MCKATh 3HAYEHHE CAOBA: CHa4YaAa BBISICHUTD,
KaK CAOBa COOTHOCHATCH APYT C APYTOM B IIPENAOKEHUH, U KAaK BCAEICTBHUE 3TOTO

OymeT BBITAANETD ITEPEBOL (UTO OyAeT IoAAesKalllM, YTO CKa3yeMbIM U T. I.)
YacTpb peun Bcerga o0o3HadYeHa B CAOBape, OOBIYHO B BHIE COKPAIIIEHUS.

COKpallleHUue O3HAYaeT mepeBos
a. (adj.) adjective UMd [IpUAaraTeAbHOE
adv. adverb Hapeyue
Cj. (conj.) conjunction COI03
ger. gerund repyHauM
n. noun HUMS$ CYILIECTBUTEABHOE
num. numeral YHCAUTEABHOE
part. participle IpUyacTue
pl. plural MHOXKECTBEHHOE YUCAO
prep. preposition IpeaAor
pron. pronoun MECTOHMEHUNE
V. verb rAQroA
[Ipumepsl.
1. The answer to this question will matter. — CaoBo matter crout mocae

BCIIOMOT'QaTEABHOI'O TIAaroAa Wl].]., 3HAQ4YUT, OTO TAaroA B 6y,ZLyH_IeM BPEMEHU.

[TepeBox: OTBeT Ha TOT BOIIPOC OyAET UMETh 3HAUYEHUeE.
2. The composition of matter is studied by chemistry. — CaoBo matter
CTOUT Ilepen ckKalyeMbIM is studied, mepem HHUM CTOUT IIpeOAOT, 3HAYHUT, 3TO

CYLLIECTBUTEABHOE. HepeBo,u: CocrasB BEIIECTBA U3y4YacT XUMHUA.
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Ynpaxkuenue 9. IlepeBeauTe, oOpamias BHHMaHHE HAa BBIAEACHHBIE

CcAOBA.

The lectures today last four hours.
After the last lecture we will write a test.

Air pollution effects changes in the climate.

Air pollution changes the climate.

In the evening streets were still.

This method is old, but still is very difficult to master today.
They may face a problem in the future.

Scientist subjects this matter to testing.

. We study several new subjects this term.

. New vehicles will be powered by new types of fuels.
. Solar power is used mostly in southern countries.

. Circumstances force him to give up studies.

. He studies gravitational force.

OO Noh b=
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. Testing is the usual means to measure students’ progress.
. Your result means you have passed the test.

—_
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. The loss of velocity results from friction.
. This building houses new equipment.
. When there is a will, there is a way.

N —
o O

Scientists are studying the chemical’s effects on the environment.

. The flow of electrons in one direction results in an electric current.

Yunpaxuenue 10. IIpourTHTEe CAOBa, CXOAHBIE€ IIO0O HAIIHCAHHIO, HO
OTHOCAIIHECA K Pa3AHYHBIM dYacTAM pedH. CpeacCTBOM HX pa3AHYEHHSA

SIBASIETCSHA IIEPEHOC YAAPECHHS. l'IepeBe,zmTe HX.

Caaroasr: CyluecTBHTEABHBIE:!
in’crease ‘increase

de’crease ‘decrease

im’port ‘import

trans’port ‘transport

ob’ject ‘object

PASEA 2. TEKCT “WHO DISCOVERED ELECTRICITY?”

YnpaxkHeHHe 11. CaoBooOpazoBaHHe.
a) nepeBeAHUTE CAOBa, OOpa3oOBaHHbIE C IIOMOIIBIO
ultra- co 3HaYEeHHEM «yABTpa-», «CBEPX-»:
ultra-microscopic; ultra-imperialism; ultra-short; ultraviolet;
32
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0) c nomoiusio npedurca en-:
circle — to encircle slave — to enslave
large — to enlarge rich — to enrich

B) obOpasyliTe ImpHAaraTeABHBIE OT CYLUIECTBHTEABHBIX (H
nepeBeAHTEe) C noMmoubio cypdukca -y:

cloud — cloudy; dirt — dirty; fog — foggy; frost — frosty; rain — rainy;
sun — sunny; thirst — thirsty; wind — windy.

YnpaxHeHHne 12. BelydHTe CAOBa K TEKCTY:

to rub TEepIIeTh

amber AHTapPb

surprise YAUBACHUE

to attract I[IPUBAEKATD, [IPUTATUBATH

bit KyCO4Y€eK, KyCOK

to remain oCTaBaThCd

curiosity AFOOOIIBITCTBO, PEAKOCTH

curious CTPaHHBIH, AFOOOTIBITHBIN

tiny KPOIIEYHBIN

attempt IIOIIBITKA

delicate HEIKHBIN, 9YBCTBUTEABHBIH (0 IIprbOpe)
to break, broke, broken AOMAaThb, pa3pyuiaTh, BBIKAIOYATh
to do one's best cTapaThbCs

YnpaxueHnue 13. IIlpounTalTe H NEepeBEeAHTE TEKCT

WHO DISCOVERED ELECTRICITY?

The story of the discovery of electricity is connected with the name of
Thales, the Greek philosopher. The story goes that one day Thales rubbed a
piece of amber against his sleeve and found to his great surprise that it
attracted small bits of dried leaves. After further experimenting he concluded
that this attractive force was a property that amber alone possessed. He called
this characteristic “electricity” because the Greek word for amber was
“electron”.

Thales’ great discovery remained a curiosity for more than two thousand
years. Then many other substances were found to have this curious property of
electricity too. Naturally the people of the past had no idea of what electricity
was. They thought of it as “rays” or “stream” that passed from the rubbed
material. There were scientists who thought electricity to be a sort of “fluid”
that flowed through wires as water flows through pipes. Later many of them
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found out that electricity was made of tiny particles of some kind. In this way
they tried to separate electricity into individual particles. There were some
attempts to weigh a single particle of electricity and calculate its electric
charge. This was one of the most delicate weighing jobs ever done by a man, for
a single electric particle weighs only about half a millionth of a millionth of a
millionth of a millionth of a millionth of a pound. To make up a pound, it would
take more of those particles than there are drops of water in the Atlantic
Ocean. Now we know these electric particles as electrons.

When a large number of electrons break away from their atoms and move
through the wire, we describe this action by saying that electricity is flowing
through the wire and the electrical “fluid” that scientists of the past talked
about is nothing else than electrons flowing along a wire. A lot of scientists
worked in the field of electricity doing their best to make the life of people good
and happy.

YnpaxueHue 14. OTBeThTe Ha BOIIPOCHI IIO0 TEKCTY:

With whom is the story of discovery of electricity connected?

What did Thales, the Greek philosopher, notice once?

What did Thales call that property of amber?

What is the Greek word for amber?

What did people think of electricity?

What did scientists find out?

How much does a separate particle weigh?

When do we say that electricity is flowing through the wire?

. What is the electrical “fluid” that scientists of the past talked about?
10. What scientists who worked in the field of electricity do you know?
11. Is it possible to weigh a single particle of electricity?
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YnpaxxkHeHue 15. IloBTOpHTE CAOBaA:
to rub, amber, to attract, to remain, to break, to do one’s best, surprise.

PASOEA 3. TEKCT “BENJAMIN FRANKLIN”

YnpaxkHeHHe 16. CAOBOOOpa3oBaHHE:

a) IlepeBeauTe HaA PYCCKHH A3BIK CAOBa, OOpa3oBaHHBIE C
nomMmousbio npedHkrca semi- (rmoay-)

flexible - semiflexible; basement - semi-basement; colon - semicolon;
circle - semicircle; colonial semi-co- lonial; final - semifinal; vowel - semivowel.
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0) IlepeBeauTe InpHAAraTeAbHbIE, OOpa3OBaHHBIE C IIOMOIIBIO
cydbdukrca -ive oOT raaroAoB H CyIllleCTBHTEABHBIX:

to act - active; to compare - comparative; effect - effective; to talk -
talkative; to restrict - restrictive.

B) IlepeBeaAuTE CAOBOCOYETAHHA:

electrical engineering industry; electric transmission lines; high-capacity
electric transmission lines;

technical data; standart of living; transformer substan- tion; an essential
component of life.

r) Ha30BHTe pYCCKHEe CAOBa, HMeEHOIIHE OOIIHH KOpPEeHb CO
CAE€AYIOLUIHMH CAOBAaMH:

classification, combination, compass, section, cylinder, dificit, process,
specialist, regulator, budget, engineer, mechanism, mechanic, technics,
parachute, physics.

YnpaxkHeHHe 17. BolyuHTe CAOBA K TE€KCTY.

to acknowledge IIpU3HaBaTh

founder OCHOBATEAb

to prove IOKa3bIBaTh

lighting MOAHHUS

means cpencraa

disastrous ru0OeAbHBIN, OeICTBEHHDIH
lighting rod TPOMOOTBOL,

to respect yBaxKarThb

defence 3arumTa, obopoHa

to declare OO0BSIBAATD, ITPOBO3TAAIIIATD
slavery pabcTBO

evil 3A0, Bpe, OecTBre, HECYACThe
obstacle pendTCTBHE, TTOMeXa
creative TBOPYECKUH

mind naMdaTb, YM, MbICAb, MHEHUE

Yunpaxuenue 18. [IpounTaiiTe H NepeBeAHTE TEKCT

BENJAMIN FRANKLIN (1706-1790)

Benjamin Franklin is acknowledged to be the founder of the theory of
atmospheric electricity. He was the first to prove that the lighting was an
electrical phenomenon. Franklin developed a new theory of electricity that he
called positive and negative. He finally invented a means of protection against
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the disastrous effects of lighting — the lighting rod. Franklin is known and
respected all over the world not only as a scientist but also as a citizen who did
as much as he could for the good of his country. Coming out in defence of the
Afro-Americans, Franklin declared, that slavery was not only an evil from the
moral point of view, but also an obstacle to the social interests of America. He
is one of the broadest as well as one of the most creative minds of his time.

Ynpaxuenune 19. OTBeThTE Ha BOIPOCHI.

Who was B. Franklin?

What did he experiment upon?

What theory did Franklin develop?

What means of protection against lighting did he develop?
Was Franklin respected all over the world?

What did Franklin declare about slavery in America?

ok Wb

Ynpaxuenue 20. IloBTopHTeE caoBa:
lighting, defense, obstacle, protection, means, to prove, evil, to declare,
broad, positive, negative.

YnpaxkueHne 21. IlepeBeauTe Ha PYCCKHH S3BIK CA€AYIOIIHE
IIpeaAOXeHHA co caoBaMH “earth” u “to earth”:
1. The winding was earthed.
Do not work without earthing.
The earth was badly assembled.
The star connection point should not be earthed.
Careful - earth! Do not earth!

kWb

YnpaxkHeHHe 22. 3alOAHHTE IIPONYCKH COOTBETCTBYIOUIHMH IIO
CMBICAy COCTaBHBIMH colo3amu: either ... or, neither ... nor, as much as,
both ... and, as long as, as early as. IlepeBeaure:

1. Franklin devoted ... ... time ... he could to social activities.

2. He founded the first fire-company which was much needed ... ... ...
almost all buildings were of wood.

3. He said that ... ... ... there was slavery in America, it would be an obstacle
to the country’s social progress.

4. In his free hours he was engaged ... in research and experiments ... in the
study of foreign languages;

5. At first Franklin's theory was acknowledged ... in America ... in France.

6. He printed books ... ... ... magazines and newspapers.
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7. He was engaged ... ... in scientific research ... ... on social activities.
8. Franklin’s works were published in Russia ... ... ... in the 18t century.

Yonpamxuenue 23. IlepeBeauTe NpenAOXKeHHsS, oOpalass BHHMaHHe
Ha IMepeBOJ IPHYACTHH C COIO30M “as”.

[lepen npuyactueM 2, BXOOIIINM B ONPEAECAUTEABHBIM MTPUYACTHBIN
0060pPOT, MOKET CTOSITH COI03 “as”, KOTOPBIH HAM HEe II€PEBOAUTCH Ha PYCCKHUH
3bIK, UAU TIEPEBOAUTCS CAOBAMHU «B TOM BHZAE Kak»: As ordinary obtained iron
contains some admixtures. (OOBIYHO ITOAY4YaEMOE KEAE€30, B TOM BHIE KaK OHO
O0OBIYHO ITOAYYAETCs, COAEPKUT ITPUMECH.)

1. The theoretical significance of the wave theory of matter as applied to
electrons will be discussed later.

2. The phtoelectric current, as measured by means of the galvanometer, is
directly proportional to tho intensity of light.

3. The pressure in this tube, as first constructed by Brown in 1897, is about
& millionths of ono atmosherc.

4. The first practical specroscope was designed in 1858. As originally
constructed it was provided with a glass prism and used only for visible
light.

YnpaxkHeHHe 24. “As” B obopore as it (he, she, they) does (do, did),
cTosiliee IOCAe NMPHYACTHSA 2, nepeBoauTcsa 1 u B obopore as it (he, she,
they) is (are, was, were), cTosillee IIOCA€ IPHYACTHSA 2, NEPEBOAHTCSH
CAOHAMH: «IIOCKOABKY», «TaK KaK».

1. This subject is rather complicated, belonging as it does to theoretical
physics.

2. The article, published as it was in a small magazine, remained unknown
for a long time.

3. The beams, passing as they do through a narrow slit, arc diffracted.
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YPOK 4

PA3AEA 1. TPAMMATHKA

1. Ilopgook CAOB aHTAUMCKOTO IIPEAAOKEHU.
dopmbl raarosa. IIpusHaku ckasyemoro. BpemeHa raarona B
JIEHMCTBUTEABHOM 3aA0TeE.

w

BomnpocuTeabHbBIE ITPEIAOKEHHUS.
4. CAOXKHBIE IIPENAOKEHUH.

IIopsiAOK CAOB AaHTAHHCKOTIO IIPEAAOKEHHS
[Ipamoil mopSaA0K CAOB.

1) momaexkainiee (rpynmna IIOOAEKAIIETO) — IIEPBOE MECTO, CA€Ba OT TAaroaa-
CKa3yeMoro;

2) cka3yeMoe (rpymmna CKa3yeMoro) — BTOPOE€ MECTO B IIPEIAOKEHHUH, CIIpaBa OT
TPYIIIBI IIOOAEZKAIIIETO;

OTauduTEABHAST YepTa CKAa3yeMoro — o0fA3aTeABHOE IIPHCYTCTBHE B €ro
cocTaBe raaroaa B AHYHOH ¢opme;

3) moIIOAHEHHE — [IOCAE CKa3yeMOro;

4) 0OCTOSATEABCTBO — CBOOOOHOE MECTO B IIPEOAOKEHUU: B KOHIIE, IIOCAE
CKa3yeMOTI'0 UAU II€PE IIOJAEKAIIUM;

5) ommpeneseHUe — CA€Ba UAU CIIpaBa OT OIPENEAIEMOT0 CAOBaA (BXOAUT B COCTaB
APYTroro YAeHa IIPENAOKEHUS]).

dopmsbr raaroasa. IIpu3Haku cKa3lyemoro. BpemeHa raarosaa B
AeHCTBHTEABHOM 3aAore.

['Aaroa B IIpeqAOKEHHUH MOIKET CTOSTh B AMYHOH opMe (B KaKOM-AHOO
BPEMEHH) — TOTIa OH SIBASETCSI CKa3yeMbIM.

Kpome aToro, ectb HeAn4yHbIe (DOPMEI TAarosa: HH(PUHUTHUB (to be, to see,
to start), mpuyactue (being, seeing, starting u been, seen, started), repyHaouit
(being, seeing, starting); oHH He CTOST B KAKOM-AHM0OO BPEMEHU U HE MOTYT ObITh
CKa3yeMbIM (MOTYT OBITH TOABKO YaCTBIO0 CKa3yeMOro).

Faaron B poam ckaszyemoro OBA3ATEABHO crouT B KakoM-HUOyIb
BpeMeHU B aedcrBUuTeabHOM (Active) mau crpazateabHoM (Passive) 3aaore.
YToObI IIOHATE U IIEPEBECTH IIPEIAOKEHHE, HyKHO: 1) HaWTH cKasyemoe
IIEAUKOM (OHO MOZXKET COCTOATh M3 HECKOABKHUX CAOB), 2) OIpPEAEAUTH IIO
dopMaAabHBIM NIpHU3HAKaM, B KaKOM BpPEMEHU M B aKTUBE HAHU IIaCCUBE OHO
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CTOUT — TaK BBI

BbIOHpaeTe crooco0 1epeBoma, 3) HaWTH B CKa3yeMoOM
CMBICAOBO TAQTOA U TIEPEBECTHU €r0, CPa3y IIOCTABUB B HY’KHOE BPEMSI.

BpeMeHa raaroaa B aHTAHHCKOM fI3BIKE

Bpemsa pencrBud:

Past — mpoieniiee

Present — HacTodgalee

Future - 6ynyiee

Future in the Past - Oyaymiee B mnpoinexaineM (yrIoTpeOASeTCS TOABKO B
OIIPEAEAEHHBIX CAyYaAIX)

B kaxxgoM 13 BpeMEH eCTh YKa3aHHe Ha CII0Co0 AedCcTBUM:

Indefinite ( = Simple) — geficTBue Kak axr

Continuous - nelicTBue Kak mpoiiecc: to be (B KakoM-Anb6o 13 BpeMéH) + -ing

Perfect ( = Perfect Simple) — meficTBHe Kak pe3yAbTaT K KaKOMYy-ANOO MOMEHTY:

to have (B kakoM-anb60 u3 BpeméH) + -ed/3 dopma

Perfect Continuous — melicTBHE KaK MPOLECC, IIPOMLOANKAIOIIMNICT K KaKOMYy-
An00 MoMeHTY: to have (B kakoM-An00 u3 BpemM€EH) + been + -ing

YTBEepoUTEABHOE OTpuiiaTeabHOE BonpocurearHOE
Past Simple She talked about| She didn’t talk | Did she talk
it last Sunday. about it last | about it last
Sunday. Sunday?
Present Simple [/you/we/they I/you/we/they Do I/you/we/they
like music. don’t like music. like music?
He/she/it likes | He/she/it doesn’t | Does he/she/it
music. like music. like music?
Future Simple We will (shall) | They will not | Will it work?
work. (won’t) work.
Past Continuous I/he/she/it was |I/he/she/it Was [/he/she/it
reading. wasn’t reading. reading?
We/you/they We/you/they Were
were reading. weren’t reading. we /you/they
reading?
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YTBEpAUTEABHOE OTtpunareabHoe BonpocuteabHoe
Present I am learning |I am not learning | Am I learning
Continuous English. English. English?
We/you/they are | We/you/they Are we/you/they
learning English. | aren’t learning | learning English?
He/she/it is | English. Is he/she/it
learning English. | He/she/it isn’t | learning English?
learning English.
Future We will be doing | They will not| Will he be doing
Continuous the work. (won’t) be doing | the work?
the work.

Past Perfect

He had done the
work.

I hadn’t done the
work.

Had they done the
work?

Present Perfect

I/you/we/they
have arrived.
He/she/it
arrived.

has

I/you/we/they
haven’t arrived.
He/she/it hasn’t
arrived.

Have
I/you/we/they
arrived?
Has
arrived?

he/she/it

Future Perfect

We will have done
the work.

They will not
(won’t) have done

the work.

Will he have done
the work?

Past Perfect
Continuous

We had been
discussing him.

We hadn’t been
discussing him.

Had you been
discussing him?

Present Perfect
Continuous

I/you/we/they
have been
studying English
for 5 years.
He/she/it
been studying
English for 5
years.

has

I/you/we/they
haven’t been
smoking since
November.
He/she/it hasn’t
been smoking
since November.

Have
I/you/we/they
been working here
long?

Has he/she/it
been working here
long?

Future Perfect
Continuous

By the next
August she will
have been

teaching English
for 30 years.

We will not been

using this
material since
next year.

How long will they
have been living
there when you
arrive?

IIpu nepeBone Ha PYyCCKUH A3BIK BpeMeHa Past mepeBoaaTca mpolneaimm
BpeMeHeM; BpeMeHa Future nmepeBoagarca OyaymmM BpemeHeM. Present Simple
u Present Continuous nepeBoadTca HACTOAIIMM BPEMEHEM.

Present Perfect obOo3Hayaer agedicTBHE, KOTOpPOE YyKe IPOH3OLIAO K

HacCToOAIIEMY BPEMEHH, II09TOMY IIEPEBOOAUTCA 4Yalll€é BCEro IIPOIIEAIIIHM

BpeMeHeM, HOo uHorzma HacrodamumMm. Present Perfect Continuous o6o3nagaer
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I[efICTBPIC, KOTOPOE€ YK€ IMNPOHCXOAHT K HACTOAILUEMY BPEMEHH, IIO3TOMY
IIEPEBOAUTCHA Yalll€ BCEro HACTOAIIKMM BPEMEHEM, HO HHOIAA ITPOLICAIITHIM.

YunpamxHeHHe 1. PackpoliTe CKOOKH, IOCTAaBHB TAaroAbl B HYKHYIO

¢dopmy, nepeBenuTe.

00 NOUH BN

Tom (come) to see us next week.

While she (cross) the road, she (slip) and (fall).

What (happen) to him yesterday?

You (read) the book yet? — I (begin) it last week and just (finish) it.
Tomorrow afternoon at this time we (fly) over the Black Sea.

His train (leave) at eleven.

When he usually (come) home?

Do you know the man? — I (meet) him.

He was pleased to meet Dave again. He (know) him for years.

10 They (finish) building the house by the end of last month.

11.1It is starting to rain. In this case we (take) a taxi.

12. She (translate) the text for two hours.

13. They (move) to their London house last week. They (not to buy) new

furniture yet.

14.1 (drive) along a country road when I (see) a telephone box.
15.1 (take) my wife out tonight. She (not to have) any fun for a long time.
16.1 know you are staying with your friends. How long you (stay) with them?

WO Nk b=

YnpaxkHeHHe 2. [IepeBeanTe Ha AaHTAHHCKHH SA3BIK.

OHa 00BIYHO 3aKaHYUBaeT pabdoTy B 7 4acoB.

Ha mporiaoit Hemeae MbI ObIAM B TeaTpe.

Cetiyac g yuTa0 O4€Hb HHTEPECHYIO KHUTY.

BEI y>ke BUeAW €T0 HOBYIO KAPTHUHY ?

OH HuKorzga He ObIA B AdpHUKe.

Me1 ob6cyzkmaeM 3TOT Bomrpoc ¢ 11 gacoB yTpa.

Br1 Oyzmere 3aBTpa qoma ¢ 9 oo 117

Omna xkwuna B Yukaro, korga 6p1aa MaseHBKAd.

Ma#ika :KUBET B LIeHTPe AOHIOHA B OOABIIION KBapTHUPE.

10. Tb1 KyIIHA 3Ty MAUIMHY B IIPOILIAOM T'OAY?
11. Br1 maBHO MeHd KOETE?

12. Mo# apyr — Bpad. /1o TOro Kak OH CTaa BpadoM, OH 3aKOHYHA

YHUBEPCHUTET.

13. 41 He Oyay mOKyIlaTh 3TOT KOCTIOM. MHe OH He HPaBUTCH.
14. Onu 3akoHYMAU paboTy Buepa K 6 Bedepa.

15. Bet Mapu? Mbl k€M Bac C yTpa.

16. 41 3Har0 ero Tpu roaa.

17. Buepa MbI ObIAU Ha [AHE poxkAeHUs [luTepa, HO MBI HE BUZIEAU BaC TaM.
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18. 4 y>xe maBHO Tebda He BHAEA. YTO ThI JeAaA BCE TO BPeMs?
19. CmoTpu! HaIll HOBBIM HAYaABHUK BXOIUT B OpHC.

20. OnHa Bcerga omnasaplBaeT Ha paboTy.

21. e BBI KyIIHAM 3TOT KOMIIBIOTEPHBIN CTOA?

22.3aBTpa B 9T0 BpeM4d g Oyay AeTeTh B AOHIOH.

BONpoOCHTEABHBIE NPEAAOKEHHSI TPEOYIOT 0COO0Oro mopsiAKa CAOB.

1. O6Guwmii Bompoc. B Hadase HOpensoskeHHs] — BCIIOMOTATEABHBIH HAU
MOJaABHBIN TAaroa, 3aTeM IofAezKalllee, 3aTeM OCTaAbHAsS YacTh CKa3yeMOoro.

Have you been to the circus? Tel Korga-HUOYOE OblAQ B ITUPKE?
Can I speak to you now? Mo2KHO ITIOTOBOPHUTE C TOOOM cetiyac?

2. CneumaabHBIN BoIpoc. BompocuTeabHOE CAOBO, BCIIOMOTaQTEABHBIN HAU
MOJAaABHBIH TAQroa, 3aTeM IOoJAeXKalllee, 3aT€EM OCTaAbHAas 4YacCTb CKa3yeMOro.
HckaloO4YeHHEe — BOIIPOC K IOZA€KalleMy: BOIIPOCUTEABHOE CAOBO CTaBUTCH
BMECTO IIOJIAEZKAIIETO.

BonpocutreabHnie caoBa:

who? KTO? where? rrme?
whom? KOTo? why? noyemy?
what? 4TO? KaKOH? how? Kak?
which? KaKOU? KOTOPBIN? how many? CKOABKO?
whose? qeu? how much? CKOABKO?
when? Krorma? how long? KaK I[OATO?
Whom did you see there? Koro Tb1 TaM yBUIEA?

Who gave him a present? Kto cmeaaa emy nogapok?

When will a new president be elected? | Korma BbIGepyT HOBOTO ITpe3umeHTA?
How can we solve this problem? Kak MBI MOXEM  pPEUIUTb 9Ty
npobaemy? (Kak HaM pemuTb 3Ty
npobaemy?)

3. AapTepHaTUBHBIN BoIlpoc. CTpouTcs KakK OOIIUM BOIPOC, 3aTeM HOET
CO103 Or (HAM) U BTOpasl 4acTh BOIIPOCA.

Do you study physics or chemistry? Trl n3yyaeurb PU3NKY UAU XUMUIO?
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4. PazgeauTeAbHBI BOIIPOC:

IIepBad dYacTb

IIOBECTBOBATEABHOEC

IIPEOAOZKEHHUE C IIPAMBIM IIOPAAKOM CAOB, BTOpad — KpaTKPIfI BOIIpOC, HUMEIOIIHUHN

3HA4YE€HHE IIE€pPECIIPOCa.

He has made a decision, hasn’t he?

OH y3ke IIPUHSIA pellleHue, He TaK AU?

You don’t work at the university, do | Te1 He paboTaelrb B YHHUBEPCHUTETE,

you?

npaBaa?

Ynpaxuenune 3. K Kaxxnaomy npesAoXeHHIO COCTaBbTE TPH BOIIpoca:
o0mHil, CIeHAABHBIH H Pa3€AHTEABHBIH.

. There is a picture on the wall.
. The lecture begins at 9.30.

1
2
3
4
5. He has already bought a ticket.
6. They visited many countries.
7
8
9.
1

My friend likes football.

CaoxkHBIE IIPEOAOIKECHHSA

. They will go to the Higher school on Monday.
. Our teacher knows several foreign languages.

. They are working in the computer class.
. Glasgow is the largest city in Scotland.

0.1 heard about this film from my friend.

CAOKHOE TIpegAOKEeHHE COCTOUT M3 ABYX M Ooaee dgacTed, B KaXKOOH U3
KOTOPBIX €CTh IIOJAEIKAIIEE U CKa3dyeMoe. HacTh MOTYT COeAUHSTHCS COI03aMHU.

CAOKHOCOYHHEHHBIE IIPEOAAOIKECHHSA. OCHOBHBIE COIO3BI:

and u

and also a Takxke

also TOXKe, TaK¥Ke

as well as a TakXKe; Tak ¥Xe, Kak U
or HAU, AH0O

but HO

however OOHAKO, HO, TEM He MeHee
yet OIHAaKO, BCE 3Ke

She gave a report at a conference, and
it was received well.

We must deal with the problem now,
or it will be too late.
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IIapHBIEe COXO3BI. MOTYT IIPUCYTCTBOBATh M B CAOXKHBIX (COEOUHSIOT
YacCTH), U B IIPOCTBIX (COEMUHSIIOT OMHOPOAHbIE YACHBI) ITPEAAOKEHUSIX.

both... and H... U; KaK... TaK "

not only... but also HE TOABKO... HO U
either... or HAH... UAU; AHDO... AnOO
whether... or AH... UAU

neither... nor HH... HU

as soon as KaK TOABKO... TaK (To)
as long as 0 TeX TI0p... IIoKa

The commission will decide, whether | Komrccusa pemur, 3acAy:KUBalOT AH UX
their conclusions deserve | BEIBOABI PACCMOTPEHUSI HAH HET.
consideration or not.
Not only the discovery became well | OTKpbITHE HE€ TOABKO CTAAO MIHPOKO
known, but also it found practical | u3aBecTHbIM, HO OHO TaKKe HAaIIIAO
use. MIPaKTUYEeCKOe IPUMEHEHHE.

CAOKHONOAYHHEHHBIE INpemAOXeHHa. B HHX ecTh TraaBHOE
MIPEIAOKEHUE ¥ OJHO HWAU OOABIIE MTPUAATOYHBIX, KOTOPHIE HIPAIOT POAB
KaKOT0-AH00 YA€HAa TAaBHOTO IIpeasokeHuss. CpaBHHUTE:

I know the girl’s name. (momoaHeHuUe | 9 3HAIO HMS 3TOH AEBYLIKH.
IIPOCTOTO IPENAOKEHUS)

I know what the girl’s name is. | Y 3Ha10, KaK 3Ty AeBYUIKYy 30BYT.
(mpuoaToYHOE OOIIOAHUTEABHOE)

OcHOBHBIE COIO3bI U COIO3HBIE CAOBA CAOKHOIIOJYNHEHHBIX IIPEIAOKEHUN:

that 4TO, KOTOPBIY if €CAH, AU

who KTO whether AU

whom KOT'0 while B TO BpeM4d Kak
what YTO, KaKoH when Korzma

which KOTOPBIHN so that 4TOOBI

whose el since TaK Kak, C TeX I10p
where rae because IIOTOMY 4YTO, TaK KakK
why nouyemy after IIOCAE TOTO, KaK
how Kak before IO TOTO, KaK

as TaK KakK, IIOCKOABKY; 10 Mepe TOT0, KaK; KOoraa

U ApyTHE.
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[Ipumepsl
What I've told you is well known fact.

Time will show if he is right.

Whatever happens, we should stay
calm.

[ know the man who can help us.

As the city grew, more and more
people came to the new capital.

Since this substance is explosive, we
should handle it carefully.

British coal mines have been closed
because they have become
uneconomic.

To, uwro g cKazaa Bawm,
U3BECTHBIN (paxkT.
Bpema nokaxeT, IIpaB AU OH.

XOPOLIIO

Yto OBl HU CAYYHAOCH, MBI TOAXKHBI
OCTaBaTbCS CIIOKOMHBIMH.

9 3Har 4YeaoBEKa, KOTOPBIA MOXKET
HaM IIOMOYb.

BCE
Ooabllle ArOEH Mpue3kaAl B HOBYIO
CTOAUILLY.

Tak Kak 3TO BELIECTBO B3PbIBOOIIACHO,

[lo Mmepe TOro Kak TOpon pPocC,

HaM caAegyeT ob0pamatbCd €  HUM
OCTOPOIKHO.

Bpurauckue YTOABHBIE HIaXThI
3aKPBIAUCH, TaK Kak CTaAu
HepeHTabeAbHBIMHU.

Buumanwne! B mpuaaToYHBIX HPENAOKEHUIX BPEMEHU Oyayiiiee BpeMs He

yia OTpe6AH €TcCd, BMECTO HETO

I won’t leave until you come.

CTOHUT HaCTOdIIEE, HaIIpuMEP:

91 He yliny, TIOKa Thl HE NPHAENIH.

Yupaxuenue 4. [lepeBeauTe CAOXKHBIE IIPEAAOKEHHS.

e ol o

As long as you are working here, the boss is satisfied with your results.
I'll have a talk with you after I've done my work.

They’ll come before the dinner starts.

The students had been doing translation since the class began.

What were you doing when I came in?

I gave the books to her after I had read them.

The Porter dropped the box as he was bringing it in.

How they managed to do it was not clear.

Whether the students can complete this task is the main problem.

10. That they have known about the plan seems evident.

11. To be or not to be that is the question.

12. As soon as I find your things, I'll let you know.

13. As soon as I heard the signal, I looked at the indicators.

14. We had already reached the village when it began raining.

15. They had to estimate the results after they had carried out the

experiment.
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YnpaxkueHHe 5. IlepeBeanTe CAOKHBIE IPEAAOKEHHA.

“090.\‘.0‘.01:”.@!\’?‘

To, 9TO 3TOT BOIIPOC BazKeH, ICHO KaXKIOMY.

91 mymaro, 4TO IOACYETHI MaAK HEBEPHBIE PE3YABTATHI.
Mowu npy3bsi 06eamT, YTO IIOMOTYT MHE.
[IpentogaBaTeab cCKa3aa, YTOOBI MBI YVIIIAM U3 3TOH ayAUTOPHH.
OH coo0ummT, KOoTa IpUMET pelleHUe.
JI>K0H OOBSCHUA, TIOYEMY OH OIIO3[IAA.
[IpennomaBaTeAb CIIPOCHA, TOTOBBI AH CTYAEHTHI K KOHTPOABHOM paboTte.
[IpuayT AM OHH BOBpEMS, HE BaXKHO.

. BaM HY>KHO BBIyYUTb MHOI'O CAOB, YTOOBI CIATh 3K3aMEH.
O BbI JOAKHEBI OBITH BHUMATEABHEE, YTOOBI HE EAATH OIIIHOOK.

PASEA 2. TEKCT “COMPUTER MACHINES”

YnpaxxHeHHe 6. BeiyuuTe caoBa.

brain

to store
storage

tape

card

digit

digital
long-division
to train
human being
are bound to make
to flash

to print

panel desk

to process

to feed fed, fed
to complete

to punch
punched cards

MO3T, PacCcynoK, pasyM

3aracaTb, OTKAaIbIBaTh, XPAHUTL Ha CKAQJE

XpaHEeHHEe, CKAALl, XPaHUAUIIIE

A€HTa

KapTa, KapTodKa

nudpa, OMHOZHAYHOE YUCAO;
nucpoBot

[IOATOE EeACHUE, PA3HOTAACHE, pa3Aal
oby4aTh, TPEHUPOBAaTh, APECCHPOBATH
4EAOBEK

OOBIYHO IEAQIOT

BCIIBIXHYTb, CBEPKHYTb, MEABKHYTH
rneyaTtaTthb

LTHUT, IYABT yIIPABACHUS
obpabaThIBaThH

KOPMUTH, BBOAUTH JaHHbIE B MAIIUHY
3aKOHYUTH, 3aBEPIINUTH

npobuBaTh (0OTBEPCTHE)

nepdoKapThI
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YnpaxkneHnue 7. IIpouynTaliTe H NepeBeAHTE TEKCT

COMPUTER MACHINES

What is a computer? The electronic system of a computer is very
complex. Its electronic brains produce information. It is a complex instrument
made up of hundreds of electronic devices, miles of electronic wire. At a panel
desk connected to the instrument, an operator feeds facts, figures, and
symbols into the machine, to be stored on magnetic tape or punched cards.
More than 100,000 pieces of information can be stored in one machine, and
when the operator wants answers, he asks the machine in a special language
to process the information taken from storage, and for solving the problem.
How long did it take you to multiply the large numbers? In one third of a
second a computer can multiply two 127-digit numbers. In one whole second,
it can add 4,000 five-digit numbers; in two seconds it can complete 320 long-
division problems. The same machine does the work of thousands of trained
mathematicians in any given time period, and without the mistakes which
human beings are bound to make. The machine can flash its answers on a
screen, can print them on paper, store them away on magnet tapes or cards.
The electronic machine can give any answer or combination of possible
answers, from the information fed to it for storage.

But it is human beings who do the thinking, who feed information to the
machines which help us to find answers and produce facts faster and more
accurately. Machines work for us, but they do not think for us.

YnpaxkHeHune 8. IIpounTaliTe H IIepeBeAHTEe CAeAyIOLIHE
CAOBOCOYETaHHS:
electronic system, electronic devices, panel desk, magnetic tape, magnetic card,
digit numbers, long-division problems, human beings, automatic controls.

Ynpaxuenue 9. [IoBTopHTe cAoBa:
to store, storage, to train, to flash, to print, tape, card, channel desk, digit,
brain, digit numbers, to feed (fed, fed), symbols, to multiply, to process.

YnpaxxHenue 10. OTBeThbTe Ha BOIIPOCHI.
. Is the electronic system of a computer very complex?
. What do its electronic brains do?
. What is a computer made up of?
. What does an operator do at a panel desk?
. How many pieces of information can be stored in one machine?
. How does the operator speak to a machine?
. How much time does it take a computer to process the information?
. Where is the information of a computer stored?
. How does a computer give its answers?
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10. Machines work for us, do they?
11. Can machines think for us?

YnpaxHeHHe 11. 3aMeHHTe aHFAHHCKHMH KBHBAaA€HTaMH PYCCKHE
CAOBa B CKOOKax:

1. (DaekTponHnsblie mo3ru) called (g poBrIMH) computer (BbLOaIOT,
npousBondr) information.

2. A computer is a (caoxkHBIH) instrument made up of hundreds of electronic
(mpubopoB.).

3. An operator at a (myasTe yrpaBaeHue, BBoauT) facts, figures, and symbols
into the machine.

4. All these (manHbI€, I PBI 1 CUMBOABI) are stored on magnetic (aeHTE) Or
on (KapTo4kax).

5. More than 100,000 pieces of information (MoryT xpaHuThbcs) in one
machine.

6. An operator asks the machine in a special language (06pabaTsIBaTh)
information taken from (xpanuauiie).

7. In one third of a second a computer can (yMHOXHUTb) two 127-(1tudppoBBIX
YHICEA).

8. A computer can (3akoH4uTh) 320 long-division problems in two seconds.

Ynpaxuenue 12. BeIpa3HTe CBO€E€ coraacHe HAH HecoraacHe c
AaHHBIMH yTBEPXKIACHHAMH.

1. A computer can ...

a) produce informations;

b) multiply large digit numbers;

c) complete long-division problems;

d) answer without mistakes;

e) store the informations.

2. A computer does the work of thousands of trained mathematicians.
3. A computer works for human beings.

4. A computer a) can b) cannot think for us.

YonpaxHeHune 13. OmpeZeAnTe THNBI NIPHAATOYHBIX NMPEAAOKEHHH H
3amalTe BOIPOCHI K HHM H K TAABHOH YacCTH NpPEeAAOKEHHH
1. When the operator wants answers, he asks the machine in a special
language.
2. It is human beings who do the thinking, who feed information to the
machine which helps us to find answers.
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PASEA 3. TEKCT “ANALOGUE AND DIGITAL COMPUTERS”

YnpaxxkHeHHne 14. BelyuuTe cAOBa.

analog and digital computers

device
to simulate
behaviour

MOJIEAUPYVIOIIHE (aHAAOTOBbIE) U IIN(PPOBHIE
BBEIYHMCAUTEABHBIC MAIIIMHBI

npubop, yCTPOHUCTBO

MOJEAUPOBATh

IIOBENEHUE, PEKUM

is the slide-rule on which distances are equivalent to logarithms of numbers
AorapudMHudecKas ANHeHKa, Ha KOTOPOM PacCTOSTHUS (IeA€HHs) SKBHUBAACHTHBI

AorapudMamM YUCea

analog = analogue
assemblies

circuit

analogous
quantity

to differ

decimal

to deal with ...

to derive

abacus

the evolution of the adding machine

aH"Haaor
y3ABI (TPYIIIIBI)
LETb (SAEKTP.)
AQHAAOTHYHbBIN, CXOMHBIHN
KOAUYECTBO; BEAUYUHA
OTAUYATBCH
MECATUYHBIN
HUMETD EAO C ...
IIPOUCXOOUTE OT, IIOAYy4YaTh
CYETHI

9BOAIOIIUYG CYMMUPYVIOIIEN MaIlIUHBI

has culminated in electronic digital computers mnpuBeaa K cCO34aHUIO
9AEKTPOHHOI'0O CYETHO-PELIAIOIIETO YCTPOHCTBA

as the operative discrete signals
pabovYux CUTHAAOB

B KQ4eCTBE AUCKPETHBIX (OTAEABHBIX)

ordinary desk calculating machine o6sI9YHass HaCTOABHAasA BEIYUCAUTEABHAS

MalllThHa

the sequence of operations

to supply
the input data

input

lo record

to provide
calculation
extremely

to hold held, held
“raw data”
external
suitable

to memoriae
calculator
to initiate

IIOCAEIOBATEABHOCTD OIlepariuii
cHabxkaTb, obecrieynBaTh
BXOJZIHbI€ MaHHBIE

BXOJI, IIofiagya

3aMIUChIBATh

3amacaTthb(-cd). CHabXkaTh, obecriedynBaTh
BBIYHCAEHUE, pacyeT

KpaliHe, Ype3MEPHO, YPEe3BbIYaATHO
[ep3KaThb, BMEIIaThb, BAAJIETh
"cpIpbE", HeOOpaboTaHHbIE JAaHHbBIE
BHEIIHUN

YIOOHBIH, TOAXOOSAIINHE, TOMHBIN
3alIOMHUTH, HAKAIIAUBATh
PacCYéTUYNK, BEIYUCAUTEAD
IIOAOXKHUTH Ha4aA0, BBOIUTD
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acceptable IPUEMAEMBIN, yIOOHBIH
Output (Brixon) presents the results of the calculations in an acceptable form.
Brixon maét pe3yAbTaThl BEIYHCAEHUH B yIOOHOU (IpuemaeMoii) popme.

YnpaxueHue 15. IIlpounTalTe H NepeBeAHTE TEKCT
Analogue and Digital Computers.

An analog computer is a device that simulates the behavior of another
system, usually a physical system, in all its states. A very simple and widely
used analogue computer is the slide-rule on which distances are equivalent to
logarithms of numbers. The devices known as analogue computers are
assemblies of electronic or electrical circuits the behavior of which is analogous
to another (mechanical) system’s behavior. The digital computer differs from
the analogue computer in that it deals with numbers and not physical
quantities. The simplest digital computer is the human hand, from which the
decimal system is derived. The first man-made digital computer was probably
the abacus, which is still used in many countries.

The evolution of the adding machine has culminated in electronic digital
computers in which electronic signals are used as the operative discrete
signals. When an ordinary desk calculating machine is used, the operator
controls the sequence of operations. He supplies the input data and records
the results. Also he may have to provide additional information from tables and
other sources during the calculation. In the case of electronic computers,
working at extremely high speeds, the human operators are replaced by
automatic devices. It is necessary, however, to provide a store to hold both the
numbers that are fed into the computer and the operating instruction.

The basic sections of digital computers are therefore:

Input: receives the “raw data" and instructions from external sources and
converts them into a suitable form for the computer to work on.

Store: memorizes numbers and instructions.

Calculator: does mathematical operations.

Control: initiates and follows the sequence of operations. Output:
presents the result of the calculations in an acceptable form.

YonpamxuHenne 16. IIpouuTaliTe H TIIepeBeAHTE CAeAyIOIIHE
CAOBOCOYETaHHSA:
analog computers, digital computers, mechanical system, decimal system,
physical quantities, electronic signals, the operative discrete signals, desk
calculating machine, the sequence of operations, the input data, extremely
high speed the basic sections, external sources.
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YnpaxxHenue 17. IloBTopHTeE caOBa:
analog, digital, to simulate, slide-rule, logarithms, assemblies, decimal, abacus,
evolution, discrete, input, output, calculation, calculator, sequence, “raw data”,
to differ, to derive, to deal with, to culminate, to supply, to record, to provide,
to hold, to memorize, to initiate.

Ynpaxuenue 18. OrBeThTe Ha BOIPOCHI:

1. What is an analog computer?

2. The slide-rule is a very simple and widely used analog computer, isn’t it?

3. Can analogue computers be described as assemblies of electronic or
electrical circuits?

4. What is the difference between the digital computer and the analog one?

5. Where is the decimal system derived from?

6. Was the abacus the first man-made digital computer?

7. Has the evolution of the adding machine culminated in the creation of

electronic digital computers?

8. Are electronic signals used in digital computers as the operative discrete
signals?

9. What’s the task of the operator when using an ordinary desk calculating
machine?

10. The operator supplies the input data and records the results when
working with a desk calculating machine, doesn’t he?

11. Does the operator do the same job (supply the data and record the
results) in the case of electronic computers?

12. What job is done by the input?

13. Does the store memorize numbers and instructions?

14. The calculator does mathematical operations, doesn’t it?

15. What’s the task of the control?

16. What is the last section of the computer?

17. How many sections does the computer consist of?

YnpaxHeHHe 19. [JaliTe aHTrAHHCKHEe 3KBHBAaA€HTBHI PYCCKHM
CAOBaM B CKOOKax.
1. Electronic (uudpoBrie) computers are used in many countries.
2. The (cuétb1) was the first (uckyccrBenHnsi) digital computer.
3. In digital computers electronic signals are used as the (nuckperHsie,
oTaeAbHBIE) signals.
4. An operator supplies the computer with the (BxogasiMu nanusiMu) and
(3anmuceiBaeT) the results.
5. A human operator is replaced by (aBToMaTHYecKUMHU IpUOOpPaMH).
6. The (cripp€) and instructions for the computer are supplied by the input.
7. The (HakomuTeab) (3arromuHaeT) numbers and instructions.
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8. The (pacueTuuk, BeruncauTeab) does mathematical operations.

9. The (3amaua) of the control is to (muHuIMrponBats) and follow the
(mocaemoBaTeabHOCTH) of operations.

10. The (BbIxOm, BEIXOOHBIE AaHHBIE) represents the results of the (Beraucaenuii)
in an (mpuemaemotii) form.

Ynpamxuenune 20. BeIpa3dHTe CBOE COraacHe HAH HECOrAaCHe CO
CA€AYIOLUIHMH yTBEPKACHHIMH.

1. An analog computer is a device that simulates ...
a) the behaviour of another system;

b) does not simulate the behaviour of another system;
c) the slide-rule.

2. Analog computers are ...

a) assemblies of electrical circuits;

b) assemblies of electronical and electrical circuits.
3. The digital computer ...

a) differs from the analog computer;

b) is alike the analog computer.

4. The digital computer deals with ...

a) numbers;

b) physical quantities.

5. The operator controls ...

a) the sequence of operations;

b) the input data.

6. Automatic devices ...

a) can replace the human operators;

b) cannot replace the human operators.

7. The digital computers have ...

a) 4 basic sections;

b) S basic sections.

YonpamxueHne 21. OmpezseAHTe THNBI NPHAATOYHBIX IPENAOKEHHH,
3amalTe BOIPOCHI K HHM H K TAABHOH YaCTH NPEAAOKEHHH.
1. The simplest digital computer is the human hand, from which the decimal
system is derived.
2. When an ordinary desk calculating machine is used the operator controls
the sequence of operations.
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YPOK S

PA3AEA 1. TPAMMATHKA
1. BpemeHa raarona B aKTHBHOM M IIaCCHBHOM 3aaore. [IpusHaku u
IIpaBHuAa IIepeBoa I1acCHUBa.
2. Beccorw3sHble MPUAATOYHbIE IIPEIAOKEHU.

1. BpemeHa raaroaa B aKkTHBHOM H ITaCCHBHOM 3aaore. IIpH3HaKH H
IpaBHAA II€epeBOAA NMMaCCHBA.

B aHrAMMCKOM £3bIKE TAArOA HMEET [ABa 3aA0ra: A€HCTBHTEABHBIH —
akTuB (the Active Voice) u crpamaTeabHblH — naccuB (the Passive Voice).

Faaroan crour B popMe OEHCTBHUTEABHOTO 3aA0TaA, €CAU TIOAAEKAIIUM B
TIPEIAOKEHUU ABASIETCS AUII0 UAU TIPEAMET, IIPOU3BOLIINE e CTBUE:

Mr Smith teaches this class. — Muctep CMmut nnpenogaét B 3ToH rpyIiie.

[aaroa crout B (popMe CTpagaTEAbHOIO 3aA0Tra, €CAU OEeHWCTBUE TAarosa-
CKa3yeMOor'o HallpaBA€HO Ha AUIIO UAU IIPEAMET, BBICTYIIAIONIUH B IIPEAAOKEHUHU
B POAM IIO[IAEIKAIIIETO:

This class is taught by Mr Smith. — 3ty rpynny obyuaer mucrep CMuT.
(Ora rpynna obygaercsa y mucrepa CmMuTa).

ITaccuB obpasyeTcs:

BCIIOMOTATEABHBIH Traaroa to be (B KakoM-ambo BpemeHH!) + CMBICAOBOM
raaroa B 3 popMe (HempaBUABHBIE T'AAQT'OABI) UAU C -€d (IpaBHUABHBIE TAATOABI).
Ota popma — npuuactue Il (Participle II, Past Participle).

OOpaTuTe BHUMaHHE Ha TO, YTO BPEMS TAaroAa B IIACCHUBE OIIPEAEATIETCS
TOABKO II0 TOMY, B KAKOM BPEMEHH CTOUT raaroa to be, Tak KakK CMBICAOBOU
rAaroA CTOUT B OJTHOM U TOHU ke popMe.

CDOpM]'::I IIaCCHBAa B pa3HbIX BpEMEHaAX

Bpemsa

[Ipumep

[lepeBon

Past Simple

He was asked.
They were asked.

Ero cripocuawu.
Hx cripocuau.

Present Simple

I am asked.

You are asked.
She is asked.

MeH4 cripalniuBaroT.
Bac cnpamuBaror.
Eé cnpamuBaror.

Future Simple

They will be asked.

Hx cripocar.
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Bpema [Ipumep [lepeBon
Past Continuous He was being asked. Ero copamuBaau.
They were being asked. Hx copamuBasmn.
Present Continuous [ am being asked. MeHsa cripamiuBaioT.
You are being asked. Bac crpammBaror.
She is being asked. Eé cnparmuBaror.
Past Perfect We had been asked. Hac copocuau.
Present Perfect We have been asked. Hac cripocuan.
He has been asked. Ero cripocuamu.
Future Perfect She will have been asked. Eé cripocsar.

B Future Continuous 1 BpemeHnax rpynmns! Perfect Continuous nmaccuB He
yrorpebasiercd.

OTtpuiiateabHad popMa: 4acTHIIA NOt CTABUTCS IIOCAE IIE€PBOTO
BCIIOMOTATEABHOT'O TAAroAa.

We have not been asked. — Hac He cripocuau.

BompocuteabHaa dopma: HepBBIH BCIOMOTATEABHBIM T'AAQrOA CTABUTCH IIepen
IIOZIAEZKATIITHIM.

Was this book written by Arthur Conan Doyle? — Oty kKHury Hamucaa ApTyp
Konaun /1o#a?

[TaccuB ¢ MOZTAABHBIMU T'AQTOAAMM:

This problem can be solved. — 9Ty mpobaemMy MOKHO PEIINTh.

He should have been informed about this. — Ero Hy>kHO 06bI1AO
IPOUH(OPMHPOBATE 00 3TOM.

Cnoco0sI IIepeBoaa rmacCHBa

I'anaroabr B mmaccuBe IIEPEBOOATCA PA3HBIMHU CHOCO6aMI/I, HpI/I‘IéM qacTo
OHO U TO XK€ IIPEOAOZKEHHNE MOZXKHO ITIEPEBECTHU II0-PaA3HOMY.

1. I'aaroa OBITH + KpaTKOE CTPAOATEABHOE IPHUYACTHE:
This discovery was discussed at the | 9To oTKpbITHE OBIAO OOCYXKIEHO Ha

conference. KOH(PEPEHIIUH.
The model will be modified and used | Momear Oymer wMomudHUIIMpOBaHA U
in practical situations. HCIIOAB30BaHa Ha IIPaKTHKE.
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2. 'aaroa ¢ cypdpurcom —c4 (-Cb):
This discovery was discussed at the
conference.
A new plan is suggested.

OTO  OTKpBITHUE
KOH(EPEHIINH.
[IpenaaraeTcd HOBBIH ITAQH.

00Cy>X/1aA0CH

3. HeonmpeneAEHHO-AMYHOE IIPEAAOKEHUE:

This discovery was discussed at the
conference.
Valuable

experiments.

data is obtained from

9To OTKPBITHUE obcyRaasu
KOH(EPEHIINH.

IHleHnHbIe OaHHBbIE IIOAYyYaloT
9KCIIEPUMEHTOB.

Ha

Ha

Hu3

4. Ecan B HIPENAOKEHHHM yKa3aHO, KTO HAW 4YTO IIPOU3BOAUT [AEHCTBHE

(mommoanenme c mpensorom by maum with), MoxXHO choeaaThb ero ImomaesKamyM U

HCIIOAB30BaTh aKTUBHBIN 3aA0T.

This discovery was discussed at the
conference by astrophysicists.
The factory is managed by
brothers.

3to
00Cy=kIaAu acTPOPU3UKH.

OTKpPBITHE Ha

two | ®abpukol ynpaBASIOT ABa Oparta.

KOH(EePEHIINH

BHUMAHUE! [Iaa mnpaBUABHOTO IIOHMMAaHHA U IIEPEBOJA TAArOAOB B
IIacCHBE HYXKHO YYHTBIBATb BpPEMd Traaroaa, koropoe omnpeneasercda TOABKO
raaronoM to be. CMBICAOBOI raaroA B IaCCHUBE BCETAA YIOTPeOAIEeTCHS B OAHOU U

TOM Ke popMe.
CpaBHure:

The information is processed by a
computer.

BcniomorareapHsbIl raaroa to be — is —
crour B Present Simple (nepeBomum
HaCTOSIIUM BpEMEHEM).

The information is being processed by
a computer.

BcriomorareabHbIt raaroa to be — is
being — crout B Present Continuous
(mepeBOOAMM HACTOSIIIIMM BPEMEHEM).
The information has been processed
by a computer.

BcriomorareabHbIt raaroa to be — has
been crour B Present Perfect
(obo3Hauaer  pe3yapTaT  OeUCTBUS,
II€PEBOANM IIPOIIEIITNM BPEMEHEM).
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HNupopmariisa odbpabaTeiBaeTcs
KOMITBIOTEPOM.

HNupopmariisa odopabaTbiBaeTcs
KOMIIBIOTEPOM.

HNupopmariusa obpaborana
KOMITBIOTEPOM.



The information will be processed by a

computer.
BcnmomorareabHbIil raaroa to be — will
be — crour B Future Simple

(mepeBOoAMM OyAyILITUM BPEMEHEM).

U Tak manee.

HNudpopmarnusa Oynetr o6paboraHa
KOMIIBIOTEPOM.

OpmHako raaroa to be B coueranuu c npudactueMm Il moxker o603Ha4aTh

cocTogHHe, a He paeuicrBHe. dopma ckK

a3yeMoro cCosBIIagacT C IIaCCHBOM, HO

CMBICA U IIepeBof pasHble. OTAMYUTE MOXKHO I10 KOHTEKCTy. CpaBHUTE:

I am often invited by my friends.
(meicTBHE)
[ am invited to my friend’s wedding.
(cocTosiHmE)

The data is processed before we can
use it. (meticTBHE)

The data is processed, so we can use
it. (cocTosiHuE)

MeHga 9acTo IpHUraaliaT MOHU APY3bd.

91 mpuraaméH Ha cBaab0y apyra.

[auupie 00pabaThIBAIOTCH, MIPEXKIE
4YeM MbI MOKEM HX HCIIOAB30BATb.
Hauupie ob6paboTaHbI,
MOZKEM HX HCIIOAB30BATb.

IIO3TOMY MBI

YupaxkueHHe 1. [IepeBeauTe NpeaAOKEHHSI HA PYCCKHH SA3BIK.

When the door is shut on the last visitor, the work is still continued in

1. This cottage is built of wood.
2. Cottages are generally built of wood.
3. The door is shut, so I can’t come in.
4.

the museum.
5. These books are being sold out fast.
6. This book is sold out.
7. This fence is painted every year.
8. This fence is painted, don’t touch it.
9. The door of our flat is locked up at

10. The door is locked, so nobody is in.

11 pm.

11.1 don’t know who this play is written by.

12. This dress is made of silk.
13. This table is covered with green pa
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YnpaxkHeHHe 2. PacKpoHTe CKOOKH, IOCTaBbTE ITAAroAbl B HYKHBIE
¢dopmMBI CTpaZaTEABHOIO 3aA0ra, nepeBeaHTE.

Why your home task (not / do)?

We (tell) about it already.

Nou AL

yesterday.

Those books (return) to the library yesterday.
The paintings (exhibit) till the end of the month.

This room (use) only on special occasions.

Dictionaries (may / not / use) at the examination.
Usually the experiments (carry out) every day, but they (not / carry out)

8. This room (not / use) for a long time.

[omoaneHue c npemasoramu by wmau with ykaspiBaer, KeM HAHU YeM

MIPOU3BOAUTCS AercTBUE. [Ipenaor An0O mepeBOASITCH «IIyTEM», «IIPU ITOMOIIIH»,

«IIOCPEeaCTBOM»,  AHUOO

nepeBogdaTcs. JlomoaHeHUe

IIOJAEIKAIIUM B PyCCKOM.

I am invited by my friend to her
birthday party.
This book was written by Mark Twain.

Performance can be improved by using
a new technique.

Mars is nicknamed the red planet
because it is covered with reddish
dust.

The concentrate is diluted with water.

The raw material is heated with
steam.
We were provided with all the

necessary equipment.
All the parts were treated with special
anti-corrosion compounds.

The fuel is supplied with combustion
air.
The boat was loaded with coal.

COOTBETCTBYIOT
AHTAHUMCKOTO

TBOPUTEABHOMY IIagexy n HE

IIPEOAOKEHUA MOZKET cTaTthb

[Togpyra mpuraacuaa MeHd Ha [I€Hb
POKIEHUS.

Ota KHUra HanucaHa Mapkom TBeHOM.
(OTy xuury Hamucaa Mapk TBeH).
[Ipon3BOAUTEABHOCTD MOZKHO
IIOBBICUTH IIyTEM IIPHUMEHEHUd HOBOM
TEXHUKU (IPHUMEHHISI HOBYIO TEXHUKY).
Mapc Ha3pIBalOT KpPAacCHOM IIAaHETOH,
IIOTOMY YTO OH IIOKPBIT KpPaCHOBATOH
IIBIABIO.

KonnenTpar pa3zbaBASIOT BOLOH.
Cripp€ HarpeBarT IIapPOM.

Hac obecrieuran BCEM HEOOXOMUMBIM
000py1OBaHHUEM.

Bce IIETAAU obpaboTasu
CIIEIIMaAbHBIMU  AQHTHUKOPPO3UNHBIMH
COEIUHEHUSIMHU.

TorauBO obecrieyuBaeTCsl BO3AYXOM
[IAST TOPEHUS.

CyaHO 3arpy3UAH YTAEM.
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To ke camoe 3HaueHHe Mpensorn by u with Moryr umers U B

IIPEOAOKEHUAX C aKTHUBOM.

She is drawing with a pencil.

(Ho: She is drawing a pencil.)

He dragged his shoe out of the river
with a stick.

I like paintings by J. W. M. Turner.

Ynpaxuenue 3. IlepeBeauTe.

ook D=

OHa pucyeT KapaHIallIOM.

(Ho: Ona pucyet KapaHzar.)

OH BBIAOBHA CBOM OOTHHOK U3 PEKH
IIAAKOH.

Mue KapTHUHBI
(HannucanHble TépHEPOM).

HpaBdaTCcd Tépuepa

Light-houses are supplied with electric power.

The inventor sealed the gap with a piece of rubber.

He had to do everything with his own hands.

The material should be washed with water.

The cylinder was heated with steam and cooled with water.
The top of the device is covered with a casing.

The boiler is a container, partially filled with water.
Combustion is the oxidation of a fuel with oxygen or air.

. All data centres are equipped with electronic door systems.

10 There are still countries where papers are made by beating bark with

stones.

11. The machines are equipped with all kinds of tools.
12. The system corrects errors with either manual or automatic operations.

[aaroapl, KOTOpPBIE
o0pa3oBEIBATh [Ba I1acCHBa  (IIpH
noaaexkaruMu). [IpuMepsl raaroaoB:

to tell — pacckazatb, COOOIIUTH

to give — maTh

to show — mokaszaTtp

to pay — 3amnaatTuthb

to promise — obemiaTo

U apyrHe.

They told me the news today.
The news was told me today.
[ was told the news today.

They offered him a good job.

A good job was offered to him.
He was offered a good job.
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CO4YETAIOTCA

C OByMd [OOIIOAHEHHUAMU,
3TOM Pa3HbIC

MOTYyT

CAOBa CTAHOBLATCA

OHH COOOIIMAM MHE HOBOCTHU CETOHSI.
(AKTHUB).

MHe ceromHsi COOOIIHMAN HOBOCTH.

OHH [OPEmAOKHWAM €My  XOPOIIYIO
paborty. (AKTHUB).

EMy nDpeAoKUAN XOPOIILYI0 paboTy.



YnpaxkHeHHe 4. OOpa3yHTe ImacCHB, CAeAaB NMOJAEKAIIHM OZHO H3
ABYX NOMOAHEHHH H OIyCTHB mozAexaulee. IlepeBeaure.

00N ;RN

Her father gave her a watch for her birthday.

Did they give him any instructions before he started the experiment?
Did they send you any photographs last week?

Did he show them how to do it?

Someone lent me two priceless volumes.

They allowed her ten minutes to get ready.

They asked us our names at the hotel.

My friend told me the news this morning.

. Their friend recommended them a new doctor.

10. Did they offer him the job I told you about?

YunpaxHeHHe

5. IlepenHIIHTE NpPEAAOXKEHHS B CTpPaZaTEABHOM

3aaore, caeAaB BBIZIEACHHOEC CAOBO NNOAACIKAIIIH M. l'IepeBe.zm're.

NGk LN=

They offered William a promotion.
They are testing the new system.
We haven’t used the car for ages.
Employers must pay all travel expenses.

All visitors must wear identity badges.

The news about the exam results distressed Sidney.
Nobody informed the college that there had been a mistake.
The company has cut all salaries.

Ocoboe BHUMAaHME CAeAyeT OOpaTHUTh Ha IepeBO/ [IaCCUBA TAArOAOB,
IIOCA€ KOTOPBIX B PYCCKOM $I3BIKE CTABUTCS HmpemAor. [Ipu 5ToM B aHTAHUHCKOM

IIpenAora MoXKeT He ObITh. [IpuMepsI:

to depend on — 3aBUCeETH OT

to insist on — HacTauBaThL Ha

to look at — cmoTpeTh Ha

to rely on — rmoaoxkuThbcda Ha

to speak of (about) — roBoputs 0

to refer to — ccelnaThCcda Ha, HA3bIBATH
to deal with — umeTs neao ¢

to laugh at — cmesaTeca Hazx

U ap.
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to affect — BAuaTEL Ha

to answer — oTBeYaTh Ha

to influence — BAUATE Ha

to follow — caemoBaTe 3a

to enter — BXOoOUTL B

to join — IpUCOEAUHUTHCS K

to attend — mpucyrcTBOBaTH Ha



OHU IIepeBOAATCS TAaroAaMHU B HEOIIPeneAEHHO-AUYHOU popMe, ITpudéM
COOTBETCTBYIOUIUY PYCCKUH IPEIAOT CTABUTCH IEPE] aHTAUHACKUM
IIOZIAE3KAIITIM.

This method has been referred to. Ha aToT MeToI CChIAAAUCE.

This method has been referred to in | Ha 3ToT Merom cchirnaauichk B 0Ooaee
an earlier paper. paHHell cTaTbe.

Some people are easily influenced. Ha HeKOTOPBIX A0/ AETKO IIOBAUSTD.
Some people are influenced by | Ha HEKOTOPBIX AlO/IeHl BAUSIOT pas3HbIe
different opinions. MHEHUS.

Data collecting is followed by data | 3a cOopoM maHHBIX CAegyeT aHaAU3
analysis. JaHHBIX.

YnpaxkHeHHe 6. [IepeBeanTe Ha PYCCKHH A3BIK.

The distribution of plants is greatly affected by local conditions.
The seminar was attended by all the participants.

His lectures are always followed by heated discussions.
Scientists were joined by students in this research.

In our curriculum every lecture is followed by a seminar.

I do not think this instrument can be relied upon.
The data cannot be accounted for by the existing theory.
The rate of the reaction is affected by the change in temperature.

XN hR D=

YnpaxkHeHHe 7. PacKpoHTe CKOOKH, IIOCTaBHB TAaroA B HYXKHOE
Bpems (present simple, past simple - active, passive).

It’s a big factory. Five hundred people (employ) there.

Somebody (clean) this room yesterday?

Water (cover) most of the Earth’s surface.

How much of the Earth surface (cover) by water?

The shop (close) at 9.30 p.m. every evening.

The boat hit a rock and (sink) quickly. Fortunately everybody (rescue).
[ was born in Moscow, but I (grow up) in Rostov.

When [ was on holiday my camera (steal) from my hotel room.

WO N0k b=

. While I was on holiday my camera (disappear) from my hotel room.

10 Why Sue (resign) from her job? Didn’t she enjoy it?

11. Why Bill (sack) from his job? What did he do wrong?

12. Where these photographs (take)? In London? You (take) them, or
somebody else?

13. Nobody (injure) in the road accident last night so the ambulance (not /

need).
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YnpaxkHenne 8. IlepenHUIHTE NPEAAOKEHHS B IIaCCHBE, OIIyCTHB

TO, YTO ABAAECTCSHA IIOAACIKAIILHM. I'IepeBe,zm're.

XN R D=

They make cars in Germany.

The Sun attracts the planets.

Somebody is watching us.

They will build the bridge next year.

The managers have already discussed the plan.
Who discovered America?

The flood has caused great damage.

We must answer all the letters.

VYnpaxkHeHHe 9. PackpoiiTe CKOOKH, IOCTaBHBE IAaroA B HYXHYIO

¢dopmy. IlepeBeaure.

0o Nk b=

The company often (order) new machines.

Some new machines (order) by the company next month.
Two houses (destroy) by the storm yesterday.

His shirts (clean) at the dry-cleaner’s tomorrow.

Her husband (arrest) some criminals yesterday.

His computer (repair) now.

Some criminals (arrest) by her husband last week.

The car (wash), it is clean now.

. They (wash) the car, it is clean now.

10. A very important question (discuss) when the client entered the room.
11. Several proposals (consider) next week.

12. The committee (consider) several proposals last week.

13. The committee must (consider) several proposals next week.

14. Several proposals must (consider) next week.

15. The work (finish) by the end of last week.

ook b=

Ynpaxxuenue 10. IlepeBenuTe

MeHsd y»Ke IPUTAaCHAU Ha BEUYEPHUHKY.

MeHsa BYepa IIpUTAQCHUAN Ha BEYEPHHKY.

MeHga IpuUraacaT Ha BEYEPUHKY.

MeHsa HUKOT/Ia HE IIPUTAAIIIAIOT Ha BEYEPUHKHU.

TeaerpamMmy I1ocAaAM ITIO3HO BEYEPOM, U OH IIOAYIHUT €€ TOABKO YTPOM.
Bamtu TecTh! OyayT Bo3BpallleHbl Ha CAEAYIONIUY HeZleAe.
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7.
8.
9.

10.

11

Bawm nipenaoxkuau a1y padoty?

MHe KaxkeTcCsl, Hallly MallIuHY ITPECAEIYIOT.

KeMm Oblra HammucaHa 3Ta KHUra?

OH ckazaa, 4TO TEKCT OblA mepeBeAEH ABa MHS Ha3al.

. Ha kakom a3bike roBopaT B Beaprun?
12.
13.
14.
15.
16.
17.
18.

OTy KHUTY B39AU U3 6MOAMOTEKH TOABKO BYepa.
Korpa 6vlaa oTKpbITA AMepuka?

OTo 3aaHue cAeNyeT CAEeAATh Ha 3aHSITUHU.
Korza 651A OCHOBaH Halll yHUBEPCUTET?

Buepa 3a HUMH HaOAIO1aAH.

CraTbio Hao OIlyOAMKOBATh Y€PE3 MECHIL.

EMy MOKHO OTIIPaBUTb ITHCHMO.

YnpaxxHeHHEe 11. IlepenumuTe IPEAAOKEHHSI TaK, YTOOBI

CKa3yeMoe CTOSIAO B CTpPaZaTEABHOM 3aAore, yAaAHB TO, YTO OBIAO
noaaexaumum. IlepeBenuTre.

Nouhk b=

NouRrLb=

A

You must write the answers on the left side of the paper.
He mustn’t take of these books of reference to the library.
I can arrange everything on time, I assure you.

The watchmaker cannot repair my watch.

She could tidy up her room in the evening.

We couldn’t hand in our papers on Monday.

You may leave you hats and coats in the cloakroom.
B

Everybody speaks well of these first-year student.
We must look into this matter.

Nobody has slept in the bedroom for years.
Somebody left the light on all the night.

Nobody has ever spoken to me like that before.
You must not throw your things about.

People will laugh at you.
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2. Beccoro3Hble NPHAATOYHbIE IIPEAAOKEHHA.

HekoToprle THUIIBI OPUAATOYHBIX IIPEOAOKEHUNM B AHTAHMCKOM SI3bIKE
MOTYT IIPUCOEAHHSITHCH K TAABHOMY IIPEIAOKEHHIO 0e3 cor3a, KPpoMe TOTO, OHH
He OTHaeAdioTcd 3ansdaToii. [lpu 1mepeBozse HYKHO ONPENEAHUTH TPAHUIIBI
IIPUAATOYHOIO MPEIAOKEHHUS, BBIIEAUTD €r0 3alsTHIMH U BOCCTAHOBUTH COIO3.

[Ipumepsr:

JloTtoAHUTEABHOE ITPUAATOYHOE MTPEIAOKEHHE

He was sure he would get this job. OH ObIA yBEpPEH, YTO IOAYYHT 3Ty
pabory.
[ know you are right. 91 3Ha0, YTO BBI IIpPaBBHI.

OnpeaeanTeAbHOE IPUAATOYHOE ITPEOAOKEHUE

I have read the book you gave me | {I npouéa KHHUTY, KOTOPYIO BBI MHE

last time. AaAH B IIPOLIABIH pa3.
The man you wanted to talk to has | HeaoBek, ¢ KOTOPBIM BBl XOTEAH
come. IMOT'OBOPHTBD, [IPHUIIIEA.

YnpaxkueHHe 12. [IepeBeauTe Ha PYCCKHH A3BIK

The letter I sent you was very long.

The work I am doing now is very difficult.

I do not think your work was so difficult.

The man you saw yesterday is my friend's father.
The girl | knew as a child is our best worker.

Let me see the map the teacher gave you.

I do not think they are busy today.

He says they will go to the top of the hill next week.
. The man you were speaking to is our teacher.

10 I thought I saw a fire.

11.I must buy the book you told me about.

12. By means of a dynamometer the power the engine delivers can be
measured.

WO Nk b=

13. The molecules every substance is composed of are in state of constant
motion.

14. There is no doubt the experiment will be finished on time.

15. The method the steel is produced by determines its kind.

16. The main problem the scientists have to solve was the possibility of
controlling chain reaction.
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PASOEA 2. TEKCT “PLASTICS”

YnpaxueHune 13. BelyuHTe CAOBa K TEKCTY.

plastic
advantage
transparent
rather
brittle

to be aware
to stand
severe
handling
to conceive
to share
fibre
rubber
paint
varnish
volume
polythene
celluloid

to introduce
tough
nylon
relatively
polystyrene
exception
concrete

to support
to require
protective
subsequently
to peel off
to come away

to be chipped off

to withstand
constantly
variety

to apply
insulation

rmpacTmacca
IIPEUMYIIIECTBO
IIPO3paYHbIi
JTOBOABHO

XPYIKHUHA

3HATh
BBIIEPKUBATh
JKECTKHUH, CypPOBBIHA
oOparmieHue
3a1yMbIBaThb
pasmeasaThb
BOAOKHO

pe3nHa

Kpacka

AQK

00BEM

IIOAW3WH
LEAAYAOULL
BBOIUTH, 3HAKOMUTH
KPENKUH, IIPOYHbIN
HEWAOH
OTHOCHUTEABHO
IIOAUCTHUPOA
HCKAIOYEHUE

OeToH
HooAePKUBATD
TpeboBaTh
3alUTHBIN

B KOHIIE KOHIIOB

CXOAHUTH, OTCAAHBATHCA

CTHUPATBCA
oTOMBAaThLCH , OTXOOHUTDH
BBEIACPZXKHUBATD
IIOCTOAHHO

BHUO, Pa3HOBHAHOCTD
IIPUMEHATH
HU30AdITHUA
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property

sheet

rod

tube

to substitute
conventional

to offer

gear
fabric-base laminate
phenolic material
resilient

to claim
bearing

to manufacture
laminated-base
to replace
rolling mill
roll-neck

to fit

to estimate
consumption

CBOMCTBO

AUCT, IIAHEAB, ALICTOBOM MaTepuas
IIPYT, CTEPXKEHDb

Tpyba

3aMEHATD

OOBIYHBIH, TPAAUITMOHHBIH
npenaaraThb

HIECTEPHS

TEKCTOAUT

deHOABHAS CMOAA
VIIPYTUH, 3AaCTUYHBIA
TpeboBaTh, IpPEeTEeH/10BATD
HOAITUITHUK
IIPOU3BOAUTDH

CAOUCTBIH (ITAACTHK)
3aMEHATH

IIPOKATHBIN CTaH

baaka

NOAXOAUTD, IOATOHATD
OLIEHHBAaTh

norpebaeHHE

YnpaxueHue 14. IIlpounTalTe H NEepEeBEAHTE TEKCT

Plastics.

Many new materials we live with have become familiar to

us over

centuries. We are pretty well acquainted with the advantages and snags of
wood. We know that glass is transparent and, while strong in some ways, is
rather brittle. We are aware that most metals can stand severe handling, but
some of them rust. Plastic materials are not found as such (kak TakoBbie, B
TakoM Buze) in nature. Plastics have been conceived in the laboratory and are
born in a chemical plant. This is characteristic which they share with the so-
called man-made fibres, the less well-known synthetic rubbers and many
modern paints and varnishes. Plastics, as a rule, have other things in common.
They are light. A given volume of polythene weighs less than one-eighth of an
equal volume of iron and less than half of the same volume of aluminium.

Although the first plastic, celluloid, was introduced 100 years ago, we
have only really become aware of them within the last decades.

While some types of plastics are very tough, e.g., nylon and others may
be relatively brittle, as, say, polystyrene, they are, with few exceptions, not as
strong as iron or steel or concrete when it comes to supporting great weights.
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Plastics do not rust and therefore require no protective layer, such as
paint, which can subsequently peel off. They can, of course, be coloured and
such colour is part of material. It cannot come away or chipped off. Plastics do
not like heat. Some types will withstand higher temperatures than others and
the ceiling temperature is constantly being raised as new varieties appear.

Plastics have found wide application both in everyday life and in
industry. We can hardly name a brunch of industry where plastics are not
applied. The insulation and dielectric properties of plastics led to their early
use in the electrical engineering industry, which was followed by special
application in mechanical engineering. Plastics as materials of construction in
the form of sheets, rods or tubes are substituting the conventional metals.
Automobile, aircraft and shipbuilding industries have also made use of
advantages offered by plastics (Takke HCIOAB3YIOT ITPEUMYILIECTBO
naactTudeckux MartepuanoB). Today all plastic gears for machinery are made
from fabric-base laminates (T€KCTOAHT, CAOHMCTBIM IIAACTHK Ha OCHOBE TKaHH).
Gears made from laminated phenolic materials are much more resilient than
similar steel gears; indeed the degree of resiliency is claimed to be as much as
forty times that of steel (He meHee, 4eM B COpPOK pa3 BEIIIE 10 CPABHEHHIO CO
crasplo). Bearings manufactured from laminated-base phenolic plastic
materials have successfully replaced the wood or bronze rolling-mill bearings.
In the rolling-mill, where it was usual practice to change the bronze roll-neck
bearings every 6 to 8 weeks, it was found that a set of plastic bearings which
were fitted for observation did not have to be renewed for a period 20 month
after operating under the same conditions. It was also estimated that there was
a drop in power consumption of between 25 and 30 per cent.

YnpaxxkHeHHe 15. OTBeThTe Ha BONIIPOCHI.

. Does this article deal with plastics?

. Are we well acquainted with the properties of wood?
. What do we know about glass?

. Is glass transparent?

. Glass is brittle, isn’t it?

. Can most metals stand severe handling?

. Do metals rust?

N0 U b~ WN -

. Is plastic material found in nature or is it born in chemical plant?

9. Are the so-called man-made fibers, synthetic rubbers and many
modern paints and varnishes produced in chemical plants too?

10. What was the first plastic material?

11. When was celluloid introduced?

12. When did we really become aware of plastics?

13. Is aluminium heavier than plastics?
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14. Are plastics as strong as steel or concrete when it comes to
supporting great weights?

15. Plastics do not rust, do they?

16. Why do plastics require no protective layer?

17. Can plastics be colored?

18. Do plastics like heat?

19. Where are plastics applied?

20. Are plastics good insulators?

21. What is made of fabric-base luminates?

22. What is made from laminated-base phenolic plastic materials?

Ynpaxuenue 16. IlepeBenure.

1. BOABIITMHCTBO METAAAOB CIIOCOOHBI BBIAEPKUBATE OOABIIIHE HATPY3KHU.

2. HekoToprble MeTaAABI PIKABEIOT.

3. [IaacTmaccel UrparoT B HallelH JKHU3HU OOABIIIYIO POAb.

4. [lepBBIX BUI IAACTMACCHI, Ileaayaoun, moaBuaca 100 aet Haszazn.

5. HekoTopwle BUABI IIAACTMAcCC, HaIIPUMeEpP, HEHWAOH, ABAGIOTCS OYEHb
IIPOYHBIMH, a TIOAUCTHPOA — OUEHBb XPYIIKUMN BU/ [TIAACTMAaCCHI.

6. [IaacTMaccel He CTOAB (HE TaK) IPOYHBI, KaK KeAe30, CTaAb, O€TOH.

7. TlanacTMacchl He p:KaBEIOT, OHHU HE HYXKIAIOTCSI B 3allUTHOM CAO€
KpPacCKH.
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YPOK 6

PA3AEA 1. TPAMMATHKA

1. MHOro(pyHKIIOHaABHOE CAOBO «ONe».
2. MuorodyHkImoHaabHOe caoBo «that/those».

3. MHOropyHKIIHMOHAABHOE CAOBO «itr.

MHOTO(YHKITMOHAABHbIE CAOBA IIEPEBOASITCH II0-PA3HOMY B 3aBUCHMOCTHU

OT (PYHKIIVH, KOTOPhI€ OHU BBIIIOAHSIIOT B IIPEIAOKEHUHU.

1. MHOropyHKIIHOHAABHOE CAOBO «One».

1. YucanreabHOE CO 3HaYEeHHEM OAWH, OJHA, OHO.

It is not enough to know only one
language.

This metro station is one hundred
meter deep.

I have one more question.

One of — omguH u3:
St. Petersburg is one of the world's

most beautiful cities.

2. MecToumenue

B (QYHKIUU IIOAAEKAIIETO:

HemocraToyHo 3HaATh TOABKO OOUH
SI3BIK.

OTta cTaHIUS MEeTPO — CTO METPOB
TAYOHMHOMH.

Y MeHda ecTh e1€ OguH BOIIPOC.

Cankr-IlerepOypr — ogWmH M3 CaMBIX
KPAaCHBBIX TOPOIOB B MHPE.

CaMOCTOATEABHO HeE

IIepeBOUTCS, 0003HAYaET AI0OOTO YeAOBEKA.

If one really wants to achieve progress
in studies one will always find time
and place for it.

One would like to know about this
new method.

One must learn that grammar rule.

One may conclude that this theory is
right.
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Ecan xodYemlp [OCTHYBL ycCIlexa
o0yuyeHUHU, Bcerga HaUAEIb OAS 3TOTO
BpeMS U MECTO.

XoTeaoch OBI y3HATH 00 3TOM HOBOM
METO/IE.

Hy>KHO BBIyYUTH 3TO I'paMMaTHUYECKOE

B

ITPaBHUAO.

MoxxHO caeaaThb 9TO OJOTa

TEeopHUsl BEPHA.

BBIBO/I,



B oTolt (yHKIIMHM MECTOUMEHHE One HMeeT MIPUTIKATEABHYI0 (OopMYy

one’s:

One must always do one’s duty. Bcerma  HY:KHO  BBIIOAHATH CBOH
00s13aHHOCTH.

One usually wants to have one's own | Kaxkabii 00BIYHO XO4YeT HMETb CBOH

home. COOCTBEHHDBIH OM.

One doesn’t like when one’s words are | Ham He HpaBuTcd, Korga HalllUM

doubted. croBaM  He Bepdr. (Hukomy He

HpPaBUTCH, Korga €ro CAOBaM HE

BEpPAT.)

Ecam mepen one CTOUT omnpeneAéHHBIM apTUKAb the, oH mepeBoguTCA
«TOT», «TOT CaMbIH».

This method is the one which is much | 9o — ToT campléi MeTOZ, O KOTOPOM
spoken about. MHOTO I'OBOPAT.

3. CaoBo-3aMeHUTEAb. YIOTpeOASeTCd BMECTO VKE YIIOMSHYTOTO
CYILIECTBUTEABHOI'O (CAOBOCOYeTaHUsI), dYTOOBI m30eKaTb €ro IIOBTOPEHUd.
[lepeBomuTCsA TEM CYIIECTBHTEABHBIM, KOTOpPO€ 3aMEHdEeT; HWHOrJa He
nepeBogUTCA. MoXKeT CTOATh BO MHOXKECTBEHHOM YHCAE — ONeES.

This text is easier than the one we | 9ToT TeKcT mpomie, TeM TEKCT,
read yesterday. KOTOPBIH MbI YUTAAU BUepa.

All these facts, together with many Bce ot darkthl, a TakK¥kKe MHOTIO
minor ones, point in the same MEAKUX (PaKTOB, yKa3blBAalOT B OQHOM
direction. HaIlpaBAE€HUH.

Ynpaxuenue 1. IlepeBeauTe.

One can't always be wrong.

[ know that he is the one who may be trusted.

You are the one I want to talk to.

One sees virus particles with the help of an electron microscope.

This PC belongs to the third generation and that one to the fourth one.
We were the ones who were asked at the exam first.

Energy can be converted from one form into another.

Volta converted chemical energy into electrical one.

9. One of the most interesting problems is flights to other planets.

10. One should not forget that the centre of gravity is an imaginary point.
11. An alternating current is one that alternates periodically.
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12. Technological progress is linked to the development of new materials, but
of equal importance is the efficient use of existing ones.

13. The electronic computer is the one that can carry out several thousand
arithmetic operations in one second.

14. Your experiment is a remarkable one.

15. This problem has only one solution.

16. The more one practices, the more skill is gained.

17.1Is it polite to share one's umbrella in the rain?

18. One always supports one's favourite team.

19. It can be disappointing to know too much about one's boyhood sporting
heroes.

20. Anger is a disbelief in the ability to control one's own destiny.

21. One can bring one's own culture to the host country.

22. And it was in no one's interest to cancel the project.

YnpaxueHue 2. IlepeBeauTe, oOpamas BHHMaHHE Ha (PYHKUHH
cCAOBa «one».

Storage of energy is one of the most urgent world problems. and experts
predict that the present rate of increase in energy use could exhaust the supply
of coal and oil in the twenty-first or twenty-second century. One can expect
that the world needs a source of inexhaustible energy. The one that we have
shining down on us is the sun. Solar radiation is an ideal source of energy due
to both its scope and cleanliness. And there is no charge for the energy that
flows so freely from the sun. Unfortunately its collection and storage can be
both difficult and expensive. The cost of transforming solar radiation into
electricity is still very high. Nonetheless solar energy is now widely used in
solar energy installations. I have never seen one, but I think one day I shall
have a chance to do that.

2. MHOTOyHKIITHOHaABHOE cAaoBO «that/thosenr.
1. Yka3aTeAbHbIE MECTOUMEHUS (IIE€PEJ CYILIECTBUTEABHBIM):

this — aTot that — Tot (3T0T)
these — ot those — Te (3TH)

This paragraph should be translated, | 9ToT a63al Hy>KHO IIepeBECTH, a TOT
and that text will be read and |Tekcrt OyayT uuTaTh U 0OCYKOATh.
discussed.

Those machines are very efficient. OTU MalIUHBI 04YeHb 3(PPEKTUBHBI.
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2. CaoBa-zamenuteau: that (em. 4.), those (MH. 4.). IlepeBomdarca TeMHU
CYIIECTBUTEABHBIMH, KOTOPbIE 3aMEHSIOT, MHOT/A OITyCKAIOTCS B IIEPEBOJIE.

The speed of this machine is high
compared with that of our machine.

The density of ice is lower than that

of liquid.

Dynamic loads are those which vary in
time.

CkopoCTp H5TOM  MAalIHWHBI  O4YEHDb
BBICOKad 10 CPaBHEHHIO CO CKOPOCTBIO

Hallle¥i MallluHbI.

IIAoTHOCTB AbA MEHBIIIE, YyeM
IIAOTHOCTB BO/HBI.
[JyrHaMu4yecKkue  Harpy3kkh —  3TO

Harpy3kKH, KOTOpPbIE H3MEHSIOTCH BO
BpPEMEHH.

3. That — coro3HO€ CAOBO «KOTOPBIM», YACTO SBASIETCS TIOIAEIKAIIIUM, CTOUT

II€pea raaroAOM-CKa3y€EMbIM.

The machine that converts electrical
energy into mechanical is the electric
motor.

Mainmna, KOoTopad npeobpasyeT
SAEKTPUYIECKYIO SHEPTHUIO B
MEeXaHUYECKYIO, Ha3bIBAETCH

SAEKTPUYIECKHUM MOTOPOM.

4. That — coro3 «4TO», «4TOOBI», «TO, YTO», CTOUT IIEPE ITOMAEKAIIUM H

CKa3yeMBbIM.

[ am sure that you are right.

He confessed that he had not come to
any conclusion.

That the changes should be agreed
upon is quite evident.

91 yBepeHa, 94TO BBI IPABHI.

OH npu3HaAcd, 4TO HE IPUIIEA HU K
KaKOMY BBIBOLY.

To, 4to 006 HY>KHO
JOTOBOPUTHCS, TOCTATOYHO OYEBUIHO.

HN3MEHEHHUAX
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YnpaxkueHue 3. IlepeBeauTe CAEAYIOILIHE NPEAAOKECHHS, oOpaluas

BHHMaHHe Ha pasAHYHbIE€ 3HA4YEHHA CAOHa “that”.

© ® N o 0 AW

. There were many scientists that found out that electricity was made up of

tiny particles.

Scientists of the past thought that electricity was a sort of a “fluid” that
flowed through wires as water flows through pipes.

That this system is simple is generally recognized.

The age that we live in is called the age of electricity.

The atom is a great force that must be used for the good of mankind.
That was one of the most complicated jobs ever done by a man.

I arranged to meet Nina, so that we could go to the cinema together.
Let us go out earlier so that we can catch the train.

Draw it larger so that everybody can see it.

10. The little gir]l stood up so that the old woman could sit down.

11. It was difficult to define the properties of these substances.

12. From the point of view of transportation it should be noted that the

Baltic Sea is not an open sea and that its ports are blocked by ice during

the winter.

13. Man has always been interested in devices that do things for him.

14. Now that your test is over and it is a success, you may have a rest.

15. This rock is heavier than that one.

16. The freezing point of water on the Centigrade scale is 0° and that on the

Fahrenheit scale is +32°.

17. These documents have been translated into English. You can use them

in your work. These are on your research theme.

18. There are stars with masses millions of times that of the sun.

19.In 1914 Rutherford discovered that the simplest positive rays are those

obtained from hydrogen and that these are positively charged particles.

20. Everybody likes that professor's lectures very much.

21.That J.J. Thomson discovered a tiny electron is well known.

22.The display was hung as high as possible in order that it would not get

broken.
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3. MHOropyHKIIHOHAABHOE CAOBO «it».

DyHKIMA U IEPEBOL

1. AM4YHOE MECTOHMEHHE «OH», «OHA», «OHO» (HEOMYIIIEBAEHHBIN ITPEIMET).
[lepeBon 3aBHUCHUT OT pofia CYLIECTBHTEABHOIO B PYCCKOM SI3BIKE.

This is a new factory. It works well.

I looked at the window. It was closed.

Oto HoBasg ¢abpuka. OHa paboraer
XOpOIIIo. =
paboTaeT XOpOIIO. =

910 HOBBIE 3aBoxa. OH
3to
npemmpusatae. OHO paboTaeT XOpPOoIIo.

HOBOE€

A nocmorpea Ha oxkHO. OHO ObIAO

3aKPBITO.

2. MecrouMmeHHe «3TO» — 3aMEHAET HE OOHO CYILIECTBUTEABHOE, a LIEAOE
IIpeIAOKEeHUe (OIMHCaHWe CHUTyaIlllH) AN00 0003HaYaeT XapaKTEPHUCTUKY AHIIA

HAU IIpeaMeTa.

He tried to break the lock. It was not
easy.

He gave me a book to read. It was a
detective story.

Experiments have shown that it is not
So.

OH DoIbITAACd CAOMATH 3aMOK. OTO
OBIAO HEAETKO.

OH maa MHe HOYHTAThb KHHUTY. OTO ObIA
IETEKTUB.

OKCIlepuMeHThI IIOKa3aAu, 4YTO 3TO He
TakK.

3. ®opmMmanrHOe moAaexKallee O€3ANYHOr0 mpeasoKeHusd. CaMOCTOSITEABHO

HE IIEPEBOAUTCA.

It is known that the earth is a very | M3BecTHO, yTO 3eMAs — O4€HBb OOABIIIOE

large body.
It’s a pleasure to see you again.
It took me 10 minutes to get there.

TEAO.
[IpuaTHO cHOBa TeOsI YBUIOETD.
A mobpaaca Tyna 3a 10 MUHYT.

4. ®opMaabHOE OIIOAHEHHE ITIOCAE HEKOTOPBIX TAaroAoB (to think, to, find,

to make, to feel). He nepeBoguTcs.

I find it difficult to explain anything to
him.
We thought it no use to wait longer.

The method makes it possible to
obtain good productivity.

91 HaxO0XKy, 4TO €My TPYAHO OOBSICHUTD
9TO-AHU0O0.

MpbI nogymMaAu, 4To OECIIOAE3HO KIATH
JIOABIIIE.

MeTona meAraeT BO3MOXKHBIM ITOAYUYEHUE
XOopolIeil MpPou3BOIUTEABHOCTH.
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5. HacTh BBIIEAUTEABHOU (9M(paTHYeCKOM) KOHCTPYKIIUU:

it is/was ... that/who/which.

Bca KOHCTPYKIMS  CAYXKHT [JIAS  BBIIEAEHHS KaKOTo-AHMOO 4YAeHa
IIPENAOKEHUA, KOTOPBIM CTOUT MexXay eé dgactaMmMu. OTaeabHO dYacTH
KOHCTPYKIIUU He TIiepeBondarcs! Ilpu mnepeBome NpUMeHAETCHd TOT CIOC00

BBIJIEA€HUSI, KOTOPBIH MOXKHO yIIOTPEeOUTH B JAaHHOM CAydae B PyCCKOM SI3BIKE;

JacCTO 3TO CAOBA «MMEHHO», «3TO», «TOABKO», «9TO» HAHU HU3MEHCHHE IIOPAAKa CAOB.

Hanpumep:

It was my brother who was offered the
job.

It was the job that my brother was
offered.

It is in September that our mill
ordered a new machine.

It was not until October that the new
machine arrived at our mill.

It is in this direction that further
research is being conducted.

HMMmeHHO MoeMy OpaTy IPEmAOKHAU ITY

pabory.

NMmeHHO 5Ty paboTy NIPEenAOKUAU
MoeMy Oparty.

NMeHHO B ceHTdI0pe HaIl 3aBOL

3aKas3aA HOBYIO MAIlIHHY.
ToabKO B OKTdaOpe HOBas MalllHmHA
OpuObIAa HA HAII 3aBOI.

MiMeHHO B 5TOM HaIIpaBAECHUU BEETCH
ITaAbHeHIas
pabora. (HMccaemoBanue mIpoBOOUTCS
HUMEHHO B 5TOM HaIIPaBACHUH).

HCCAEOO0BATEABCKAA

OMmddaTryeckass KOHCTPyKIud "it is... that" moxozka Ha 6e3AUYHOE ITpPeaAOKEHHE.
Ecam m3 mpenaokeHus yopathk caoBa it is... that", ¥ oHO mpH 3TOM COXpPaHUT
IIPaBHUABHYIO CTPYKTYPY, TO 3TO — dMpaTHUIEeCKass KOHCTPYKIIUS.

It is in this area that the greatest
interest lies.

It is interesting to note that this area
is intensively studied.

Ynpaxuenue 4. IlepeBeaurte:

HimeHHO 3Ta 00AaCTh IPEACTABALET
HauOOABIIHI UHTEPEC.
(OMdaTrnyeckas KOHCTPYKIIUE).
HHTEpECHO OTMETUTD, YTO 3Ta 00AACTh
MHTEHCUBHO N3y4JaeTcCH.

(BesanmuHOe IIpenAoKeHHUE).

1. It is the character of this process that should be studied
2. It was not until the 1940s that this problem was recognised.
3. It is because of its importance that we study the environmental problem.
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4. It is the availability of liquid water that is one of the conditions for life on
the Earth.

. It is only recently that we have begun to collect the data

It is easy to discuss this problem as it is very simple.

7. This PC belongs to the third generation, it should be replaced by a new
one.

8. What time is it now?

9. It is on the above principle that our theory is based.

10. It took me 2 minutes to prepare and send the e-mail message.

11. It was Babbage who invented the first calculating machine.

12. It has been ages since [ saw you last time.

13.1 heard a knock at the door. I thought it was my wife.

14.1t is raining heavily. Don't forget to take an umbrella, it is in the
bathroom.

15. It is difficult to translate foreign text without a dictionary.

16. It was from a radio that the subject of electronics was born.

17.1t has to be noted that all the chemical elements can be found in the
Urals mountains.

18.1If a piece of metal is near a magnet it will become a magnet itself.

19. It would be simply impossible to make space flights without modern
means of automatics.

20. In the discussion of computers the word information has a special
definition: it is a set of symbols that have meaning.

21. It was not until the discovery of radioactivity that the age of the earth
could be approximately fixed.

22.1t is common practice to use a human being as one of the links in the
chain of elements of the control system.

23. 1t is a computing machine that is able to operate by itself.

24. He gave me good advice and I followed it.

25. It was this plant that I visited first in 2004.

26.1 find it hard to believe the story.

o u
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PASEA 2. TEKCT “THOMAS ALVA EDISON”

YnpaxkueHue 5. CAoBooOpazoBaHHe.

a) OOpasyiiTe Hapeuna npH nomomu cyddurca -ly ot
CA€AYIOLIHX NMPHAAraTEeAbHBIX; IEpEBEAHTE:

usual, natural, sudden, bright, dead, slow, quick, ready, heavy, special,

active, direct, correct, logical, cordial, successful, useful, careless, hopeless.

0) IlepeBeauTe IpHAAraTeAbHble H HapedHsa C AOPYrHM
3HaYeHHEM, O0pa3oBaHHEBIE OT HHX:
hard — hardly; late — lately; near — nearly.

B) OOpa3yHTe HOBBIE CAOBa, HCIIOAB3YysI H3BECTHEIE BaM cyPPHKCEHI:
to appear, to equip, safe, to operate, climate, convenient, to arrange,

economy.

r) IlepeBeauTe CAOXHBIE IIpHAAraTeAbHbIe, OOpa3OBaHHBIE IIO
MOZEAH «CyUIeCTBHTEABHOE + IIpHAAraTeAbHOE».
temperature-dependent; time-dependent; pressure-dependent; flight-

ready; heat-resistant; fire-resistant; temperature-sensitive; oxygen-sensitive;
accident-free; fault-free; trouble-free.

n) IlepeBeauTe CYIIEeCTBHTEABHBIE H TAaroAbl, O0Opa3oBaHHBIE
INyTEM KOHBEpPCHH:
book - to book
bomb - to bomb
head - to head
winter — to winter

dust - to dust
hand - to hand
finger — to finger

YnpaxkHeHHe 6. BoiydHTe cAOBa H BBIpaxK€HHSI K TEKCTY.

throughout IIOBCIONY

to take out OpaThb maTeHT

patent I[IaTeHT

contribution BKAQ[ B HAYKy

Improvement VAy4IIIeHHE, yCOBEPIIIEHCTBOBAHHE
to appreciate LIEHUTH

efficient NEeUCTBEHHbBIN, 3(pPeKTUBHBIN, ITPOAYKTUBHBIHN
durable JAUTEABHBIN, ITPOYHBIN

large-scale T POKOMACHITAOHBIH

distribution pacrpocTpaHeHue

to carry out BBITIOAHATE

widespread IITUPOKO PACIPOCTPaHEHHBIN

self-taught

caMoy4Ka
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to display

IIOKa3bIBAaTh, IIPOABALATE, O6Hapy}KI/IBaTB

intense HaIIpsKEHHBIN, CUABHBIN, HHTEHCUBHBIN
curiosity AFOOOTIBITCTBO

capacity CIIOCOOHOCTB

cellar rorpe0, moaBaa

to overcome
lack

IIPEOIOAETH
HEJIOCTATOK, OTCYTCTBHE

to dispose pacrioararaThb, pacropsaKaThbCs
workshop MacTepckad, Iex

genius F€eHUAaABHOCTbh, OIaPEHHOCTD
profound TAyOOKUM

to head BO3TAABASITH

to enrich oborariarnb

humanity 4EAOBEYECTBO

YnpaxxkHenue 7. IlepeBennTe TEKCT.

Thomas Alva Edison (1847-1931)

The name of Thomas Alva Edison is widely known throughout the world.
In his fifty years and more of invention he took out over a thousand patents blit
perhaps the most famous of all his contributions was the improvement of the
electric lamp. Thus, highly appreciating Lodygin’s invention, Edison went
further and worked out a more efficient incandescent filament lamp that was
durable, cheap and suitable for the large-scale production. It is also owing to
Edison that an efficient system of electric light distribution was carried out,
due to which the wide-spread use of this lamp became possible.

Edison was a self-taught man, his schooling being limited to three
months in a public school. In spite of this, from early childhood he displayed
an intense curiosity as well as a great capacity for work and study. He began to
experiment at the age of ten or eleven. Instead of a laboratory he used the
cellar of his parents’ house.

Later on, Edison had to overcome many more difficulties because of the
lack of money and assistance. Many years had passed before he could dispose
of laboratories and workshops of his own. Thanks to his native genius, his
capacity for work (for months he slept no more than one or two hours a day)
and the profound study he made of every problem he worked at, he headed
technical research in his country and enriched humanity with his numerous
inventions.
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YnpaxxkHeHHe 8. BeiyunTe caoBa.
to appreciate, durable, distribution, to display, capacity, to I B overcome.

genius, to enrich, in spite of, instead of, because of, III for the sake of, thanks
to, owing to, by means of, in connection with, in addition to.

Nk b=

Ynpaxuenue 9. OTBeThTe Ha BOIIPOCHI.

Who was Thomas Alva Edison?

What may be considered as the most famous of Edison's conclusions?
Who invented the incandescent filament lamp?

Who improved the incandescent filament lamp?

At what age did he begin to experiment?

What did he use as a laboratory?

Did he have to overcome many difficulties because of the lack of money
and assistance

How many patents did he take out for his inventions?

Yopaxkuenue 10. IlepeBeauTe, oOpamasa ocofoe BHHMaHHE Ha

COCTAaBHBIC IIPEOAOTH:

1.

w

In spite of his lack of schooling Edison was one of the greatest inventors
of his time.

. Owing to his remarkable capacity for work he perfected his knowledge in

various fields of engineering.

. Edison lost his hearing because of a railroad accident.
. He communicated with other people by means of a special device of his

own invention.

. The widespread use of the incandescent filament lamp could become

possible only in connection with and thanks to the development of an
effective system of electric light distribution.

. Studying a problem, Edison made numerous experiments and in addition

to that read much on the subject.

. When a child, Edison had to use bottles instead of special glassware for

his experiments in chemistry.

YnpaxkHeHHEe 11. 3anoAHHTeE IIPONYyCKH YyCTOHYHBBIMH

caoBocodeTaHHAMH: to take interest (in); to make use (of); to play a part
(in); to take part (in); to find application (in)

b=

IlepeBeauTe:

Edison ... in most technical problems of his time.

Some of his inventions ... in the production of the modern sound film.
He ... of his father’s cellar for his experiments.

Hundreds of people ... in the research work carried out in his
laboratories.
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5. Most of his inventions ... in industry and everyday life.

YnpaxkHeHHe 11. [IBoMiHOe OTpPHIIAHHE.

Orpunianye not B COYETaHHUM C OTPHULATEABHOM  IIPUCTaBKOM
IIPHUAAQTATEABHOTO HAM Hape4YHusl yCHAWMBAeT BBICKa3bIiBaHUe. [Ipu mepeBoae
IIPEOAOKEHUH C TAKUMHU COYETAHHSIMH Iepej IIpUAaraTeAbHBIM HAU HapedueM
OOBIYHO CTaBUTCS CAOBO «IOBOABHO». It is not improbable. — 3T0 AOBOABHO
BEPOSITHO.

IlepeBeauTe:

1. Mars and Venus have atmospheres not dissimilar to ours.

2. This civilization is not inconsiderably influenced by the effects of Greek
culture.

3. River and lake deposits also not uncommonly contain remains of
organisms which inhabited waters.

4. It seems not at all unlikely that many of the lower animal forms also have
the power to make a similar distinction.

Ynpaxuenune 12. ComocTaBaeHHe raaroaa to do B poan ycHaAHTeAd,
BCIIOMOT'aTE€ABHOI'0 I'Aaroaa, raaroaa-3aMeHHTEAST H OCHOBHOIO raaroaa.
IlepeBeanTe NMpenAOKEHHsI, onpeaeasis pyHkuuio do.

1. This field does not affect the forward motion of the electrons but does act
upon the transverse motion.

2. Not all metals react with acids, and when they do the gas evolved is not
always hydrogen.

3. These molecules are too small to be seen even with the microscope, but
strong experimental evidence shows that they do exist.

4. Gold usually occurs in the nature state while iron does not.

5. Copper does not combine with oxygen when cold, but it does do so slowly
when heated.

6. The beta rays which do pass through the aluminium do not ionize the gas
as profusely as the alpha rays do.

7. The individual electrons do not move even approximately independent of
one another as do, for example, the planets in the solar system.

8. He translates from Russian into English better than I do.

Ynpaxuenne 13. CaoBa-zsameHuTeAH that, those. IlepeBemurte
NpenAOKEHHS H ONpeneAHTe 3aMeHsIEMOe CyLIeCTBHTEABHOE.

1. The price of tin is higher than that of copper.
2. Since its radius is smaller than that of the Earth, the Moon’s surface has
a much greater curvature
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The man’s weight on the Moon is 10-12 kg. less than that on the Earth

because of the Moon’s gravity.

The territory of Siberia is larger than that of France.

The climate of the Antarctic is more severe than that of the Arctic.

The Caucasian mountains are higher than those of the Crimea.

The atmosphere density of the Moon is lower than that which can be

produced in the finest vacuum equipment.

The Luna 11 trajectory was similar to that of the Luna 10.

9. The cosmonauts carry out experiments in a mock-up spacecraft, where
conditions similar to those of actual space flight are simulated.

10. There are many other famous places in the city besides those which you

NouA

o

saw yesterday.
11.1 should like to have some more books besides these.
12. The property of conductors is different from that of insulators.

JOIIOAHHUTEABHBIE TEKCTHBI

THE POWER PLANT

Energy exists in various forms but electrical energy is the most
convenient form of energy. It can be transported with ease, generated in
different ways, and can be converted into mechanical work or heat energy.

A power plant (also known as power station or powerhouse) is basically
an industrial enterprise for the generation of electrical energy. The basic
purpose of a power plant is to convert other types of energy such as chemical
energy, nuclear energy, geothermal energy, falling water energy (hydroelectric
dams) into electric power. The electric equipment used inside a power plant
converts mechanical energy into electrical energy using turbines and
alternators.

Thermal power plants convert heat energy into electrical energy. heat is
generated by the burning fossil fuels like coal, petroleum, or natural gas. These
power plants are also called the fossil fueled power plants. The working fluid of
these plans is mostly steam. A steam power plant consists of a boiler which is
used to generate the steam from water, a steam turbine rotating the alternator
to produce electricity. The steam is again condensed in the condenser and fed
to the boiler again.
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Hydro power plants use the kinetic energy of flowing water to produce
electrical energy. Hydro power plants store water in large reservoirs. Water in
these reservoirs flows down the dam and rotates a turbine. As the blades of a
turbine turn, so do the magnets inside the generator which is connected to the
turbine. These magnets rotate past copper coils and with each rotation,
electricity is produced. The major drawback of hydro power plants is that they
are highly dependent on the hydrological cycle of the area where they are built.

Nuclear power plants work on the chemical process of fission. Fission is
the nuclear reaction in which atoms of certain elements called nuclear fuels
absorb free neutrons. In this process, large amount of energy is released. The
free neutrons further strike the atoms ither of other fissile materials, thus
beginning a chain reaction. The energy released from this chain reaction is
used to generate electricity.

Nuclear power plants have ways to control or stop these reactions when
they go out of control. Nuclear fuel used in the nuclear power plants is
Uranium-235 or Plutonium-239. A lot of radioactive material is created in the
process of fission. These substances remain radioactive for long time, so there
exists the problem of managing nuclear waste.

Solar power plants concentrate the rays of the Sun into a single beam
using lenses and mirrors. The beam then heats the working fluid that is used
to generate power. Besides the concentrating solar power plants, multi-
megawatt photovoltaic power generating plants have also been built in recent
times. In these plants, Sun rays are concentrated on photovoltaic solar arrays
which convert the Sun’s energy into electrical energy using the photoelectric
effect.

Wind farm

Wind farm is a renewable energy converter. The energy generated by a
wind farm can be fed directly into the general energy grid after passing through
transformers. Wind farms are a large source of renewable energy. Once
installed, a wind farm can operate for a long time.

OPERATION OF ELECTRIC POWER PLANTS

Electric power plants have a number of components in common.

Boiler unit: Almost all of power plants operate by heating water in a
boiler unit into super heated steam at very high pressures. The source of heat
from combustion reactions are fossil fuels such as coal, oil, or natural gas. In a
nuclear power plant, the fission chain reaction is the source of heat.

Turbine-generator: The super heated steam is used to rotate the blades
of a turbine, which in turn rotates the generator. The rotating coil of wire in the
magnets results in the generation of electricity.

Cooling water: After the steam travels through the turbine, it must be
cooled and condensed back into liquid water to start the cycle over again.
Cooling water can be obtained from a nearby river or lake. Alternate method is
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to use a very tall cooling tower, where the evaporation of water falling through
the tower provides the cooling effect.

The future of the engineering profession

Among various recent trends in the engineering profession
computerization in is the most widespread. The trend in modern engineering
offices is also towards computerization. Computers are increasingly used for
solving complex problems as well as for handling, storing, and generating the
enormous volume of data modern engineers must work with.

Scientific methods of engineering are applied in several fields not
connected directly to manufacture and construction. Modern engineering is
characterised by the broad application of what is known as systems
engineering principles.

Engineers in industry work not only with machines but also with people,
to determine, for example, how machines can be operated most efficiently by
workers. A small change in the location of the controls of a machine or of its
position with relation to other machines or equipment, or a change in the
muscular movements of the operator, often results in greatly increased
production. This type of engineering work is called time-study engineering.

A related field of engineering, human-factors engineering, also known as
ergonomics, received wide attention in the late 1970s and 1980s when the
safety of nuclear reactors was questioned following serious accidents that were
caused by operator errors, design failures, and malfunctioning equipment.

Human-factors engineering seeks to establish criteria for the efficient,
human-centred design of, among other things, the large, complicated control
panels that monitor and govern nuclear reactor operations.

Engineering as a profession

Electrical and electronics engineering

Electrical and electronics engineering is the largest and most diverse field
of engineering. It is concerned with the development and design, application,
and manufacture of systems and devices that use electric power and signals.
Among the most important subjects in the field are electric power and
machinery, electronic circuits, control systems, computer design,
superconductors, solid-state electronics, medical imaging systems, robotics,
lasers, radar, consumer electronics, and fibre optics.
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Despite its diversity electrical engineering can be divided into four main
branches: electric power and machinery, electronics, communications and
control, and computers.

Electric power and machinery

The field of electric power is concerned with the design and operation of
systems for generating, transmitting, and distributing electric power. Engineers
in this field have brought about several important developments since the late
1970s. One of these is the ability to transmit power at extremely high voltages
in both the direct current (DC) and the alternating current (AC) modes,
reducing power losses proportionally. Another is the real-time control of power
generation, transmission, and distribution, using computers to analyse the
data fed back from the power system to a central station in thereby optimising
the efficiency of the system while it is in operation.

A significant advance in the engineering of electric machinery has been
the introduction of electronic controls that enable (AC) motors to run at
variable speeds by adjusting the frequency of the current fed into them. DC
motors have also been made to run more efficiently this way.

Electronics

Electronic engineering deals with the research, design, integration, and
application of circuits and devices used in the transmission and processing of
information. Information is now generated, transmitted, received, and stored
electronically on a scale unprecedented in history and there is every indication
that the explosive rate of growth in this field will continue unabated.

Electronic engineers design circuits to perform specific tasks, such as
amplifying electronic signals, adding binary numbers, and demodulating radio
signals to recover the information they carry. Circuits are also used to generate
waveforms useful for synchronisation and timing, as in television, and for
correcting errors in digital information, as in telecommunications.

Prior to the 1960s, circuits consisted of separate electronic devices —
resistors, capacitors, inductors, and vacuum tubes — assembled on a chassis
and connected by wires to form a bulky package. The electronics revolution of
the 1970s and 1980s set the trend towards integrating electronic devices on a
single tiny chip of silicon or some other semiconductive material. The complex
task of manufacturing these chips uses the most advanced technology,
including computers, electron-beam lithography, micro-manipulators, ion-
beam implantation, and ultraclean environments. Much or the research in
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electronics is directed towards creating even smaller chips, faster switching of
components, and three-dimensional integrated circuits.

Communication and control

Engineers work on control systems ranging from the everyday,
passenger-actuated, such as those that run a lift, to the exotic, such as
systems for keeping spacecraft on course. Control systems are used extensively
in aircraft and ships, in military fire control systems, in power transmission
and distribution, in automatic manufacturing, and in robotics.

Computers

Computer engineering is now the most rapidly growing field. The
electronics of computers involve engineers in design and manufacture of
memory systems, of central processing units, and of peripheral devices. The
field of computer science is closely related to computer engineering however the
task of making computers more intelligent artificial intelligence through
creation of sophisticated programs what development of high-level mission
languages or other means is generally regarded as the aim of computer science.

Mechanical Engineering

Engineers in this field design, test, build, and operate machinery of all
types; they also work on a variety of manufactured goods and certain kinds of
structures. The field is divided into (1) machinery, mechanisms, materials,
hydraulics, and pneumatics; and (2) heat as applied to engines, work and
energy, heating, ventilating, and air conditioning. The mechanical engineer,
therefore, must be trained in mechanics, hydraulics, and thermodynamics and
must know such subjects as metallurgy and machine design. Some mechanical
engineers specialise in particular types of machines such as pumps or steam
turbines. A mechanical engineer designs not only the machines that make
products but the products themselves, and must design for both economy and
efficiency. A typical example of moderm mechanical engineering is the design of
a car or an agricultural machine.

Safety Engineering

This field of engineering has as its object the prevention of accidents. In
recent years safety engineering has become a speciality adopted by individuals
trained in other branches of engineering. Safety engineers develop methods
and procedures to safeguard workers in hazardous occupations. They also
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assist in designing machinery, factories, ships and roads, suggesting
alterations and improvements to reduce the possibility of accident.

In the design of machinery, for example, a safety engineer tries to cover
all moving parts or keep them from accidental contact with the operator, to put
cutoff switches within reach of the operator and to eliminate dangerous sharp
parts. In designing roads the safety engineer seeks to avoid such hazards as
sharp turns and blind intersections that lead to traffic accidents.

GLOBAL WARMING

Global warming is an increase in the earth’s temperature due to the use
of fossil fuels and other industrial processes leading to a build-up of
“greenhouse gazes” (carbon dioxide, methane, nitrous oxide, and
chlorofluorocarbons) in the atmosphere. It has been known since 1896 that
carbon dioxide helps stop the sun’s infrared radiation from escaping into space
and thus functions to maintain the earth’s relatively warm temperature (this is
called the greenhouse effect). The question is whether the measurably
increasing levels of carbon dioxide in the atmosphere over the last century will
lead to elevated global temperatures, which could result in coastal flooding
(through a rise in sea level) and major climatic changes, and have serious
implications for agricultural productivity.

Since 1850 there has been a mean rise in global temperature of
approximately 1°C (1.8° F), but this rise could just be part of the natural
fluctuation. Such fluctuations have been recorded for tens of thousands of
years and operate in short-term as well as long-term cycles. The difficulty of
distinguishing human-made causes of carbon dioxide emissions from natural
sources is one reason why governmental legislation regarding their control has
been slow. However, the potential consequences of global warming are so great
that many of the world’s top scientists have urged immediate action, and have
called for international cooperation on the problem.

Greenhouse effect

Greenhouse effect is the term for the role of the atmosphere in warming
the earth’s surface. The atmosphere is largely transparent to incoming short-
wave solar radiation, which is absorbed by the earth’s surface. Much of this
radiation is then reemitted at infrared wavelengths, but it is reflected back by
gases such as carbon dioxide, methane, nitrous oxide, halocarbons, and ozone

85



in the atmosphere. This heating effect is at the root of the theories concerning
global warming.

The amount of carbon dioxide in the atmosphere has been increasing by
0.4% a year because of the use of fossil fuels such as oil, gas, and coal. The
cutting of tropical forests has also been a contributing factor in the carbon
cycle. Other gases that contribute to the greenhouse effect, such as methane
and chlorofluorocarbons, are increasing even faster. The net effect of these
increases could be a worldwide rise in temperature, estimated at 2° to 6° C (4°
to 11° F) over the next 100 years. Warming of this magnitude would alter
climates throughout the world, affect crop production, and cause sea levels to
rise significantly. If this happened, millions of people would be badly affected
by flooding.
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